Ratios

1. Find the ratio of squares to total shapes in the diagram
below.

1O
O
1O

Unsimplified ratio of squares to total shapes:

For every 1 square there are total shapes,

therefore the simplified ratio of squares to total shapes is

2. Find the ratio of triangles to circles in the diagram
below.

>
000

ot

Unsimplified ratio of triangles to circles:

For every 1 triangle there are circles, therefore the

simplified ratio of triangles to circles is

3. Find the ratio of squares to total shapes in the diagram
below.

Qoo
L1OO
OO
OO

Unsimplified ratio of squares to total shapes:

For every 1 square there are total shapes,

therefore the simplified ratio of squares to total shapes is

4. There are 42 lollipops and 60 candy bars for a gift bag.
In other words, lollipops and candy bars are in a 42:60

ratio.
L L L L L L L cCc cCCcCCCoccCcccce
L L L L L L L ¢c CcCCcCccCcccccecoc
L L L L L L L c CcCcCccCcccccc
L L L L L L L cCc CcCCcCccCcCccccc
L L L LLL L cCc CcCCcCCcCcCcC cc c cc
L LLLULTULTL cCc ccCcCcCccccccce

These lollipops and candy bars can be put into smaller
equal groups. For example, an equivalent ratio of 21:30
can be grouped like this:

Eii c CcC CCcCZC ;Ei c Cc CcCC
L L L c CcC C CC L L L ¢c ¢ C CC
L L L ¢c CcC CcCccC L L L ¢c CcC C CCcC
L L L C C C C C L L L ¢C C C CC
L L L ¢c CcC CcCcc L L L ¢cC CcC CcCcCcC
L L L c CcC C CC L L L c CcC C CC

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are lollipops for every candy bars.
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Ratios

5. There are 6 apples and 24 bananas for a fruit basket. In 6. There are 18 dogs and 42 cats at a pet daycare. In other

other words, apples and bananas are in a 6:24 ratio. words, dogs and cats are in a 18:42 ratio.
B B B B B B c C CCCZCZC
A A A B B B B BB C C C CCCC
A A A BB BBB B popopPpYl CCCCCcc
B B BBIBB DDDDTOD D c ¢ccCccCcCcCccc
. cC C CCCCC
These apples and bananas can be put into smaller equal ccccccec
groups. For example, an equivalent ratio of 3:12 can be These dogs and cats can be put into smaller equal groups.
grouped like this: For example, an equivalent ratio of 9:21 can be grouped
n B B B i B B B like this:
% B B B ry B B B
A B B B A B B B C C C C C C
B B B B B B 6 @0 6 ¢ &
D DD ¢ o D DD € ¢ ¢
Find another equivalent ratio. Use your ratio to fill in the b b D ¢ CcC D DD ¢ CccC
D D D ¢ oo D DD e g o
blanks, and then draw the groups below. g 8 g g g g

Thereare ___ apples forevery _ bananas. Find another equivalent ratio. Use your ratio to fill in the

blanks, and then draw the groups below.

There are dogs for every cats.
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Ratios

7. There are 8 lollipops and 24 candy bars for a gift bag.

In other words, lollipops and candy bars are in a 8:24 ratio.

S
S
S
S

aaaa

loNoNoNo!
aaaa

QQaaQa

aaaa

aacaa

These lollipops and candy bars can be put into smaller
equal groups. For example, an equivalent ratio of 4:12 can
be grouped like this:

&t Eb
ol =
Qaaa
aQaaQ
aaaa
e
il ek
Qaaa
QaaaQ
aQaa

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are lollipops for every candy bars.
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8. There are 48 apples and 40 bananas for a fruit basket.
In other words, apples and bananas are in a 48:40 ratio.

A A A A A A A A

B BB BBDBBB
A A A A A A A A

B B BB BBB B
A A A A A A A A

B B B BBBBB
A A A A A A A A

B B B BBDBBB
A A A A A A A A BEBBBBGBEBEBRB
A A A A A A A A

These apples and bananas can be put into smaller equal
groups. For example, an equivalent ratio of 24:20 can be

grouped like this:
AAAA AAAA

B B B B B B B B
A A A A A A A A

B B B B B B B B
AAAA AAAA

B B B B B B B B
A A A A A A A A

B B B B B B B B
A A A A BB BB A A A A BB B B
A AAA A AAA

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are apples for every bananas.

9. Genesis has kiwis and limes in a ratio of 94:20. How
many kiwis does she have if she has 10 limes? (a) On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value. (b)
Complete the sentence.

limes

(0]

\ 4

Y

kiwis

Genesis has kiwis if she has 10 limes.



Ratios

10. Wyatt has kiwis and bananas in a ratio of 25:58. How 12. A bookstore sells 6 books for $75. Which table
many bananas does he have if he has 75 kiwis? (a) On the represents the relationship between number of books and
double number line below, fill in the given values, then use the total price?
multiplication or division to find the missing value. (b) A B
Complete the sentence.
Books| Cost Books | Cost
bananas
0 __ N 1 |$12.50 1 |$12.50
e 2 |$13.50 11 |$22.50
0
. — — 3 |$14.50 21 |$32.50
G D
Wyatt has bananas if he has 75 kiwis. Books) | Cost Books | Cost
6 $75 6 $75
12 $81 7 |$87.50
18 $87 8 $100

13. Yasmin earns $45.75 for 3 hours of work. If she makes

11. Evan has mangos and pears in a ratio of 11:76. How ,
. a constant hourly wage, which table represents the
many pears does he have if he has 22 mangos? (a) On the . .
) . . relationship between the number of hours she works and
double number line below, fill in the given values, then use ,
o . . her total earnings?
multiplication or division to find the missing value. (b)

Complete the sentence. A B
o (E(fr:) o (ESEZ) -
Bl _'_ g 1 [$15.25 3 | $45.75
. —> 2 |$16.25 6 | $48.75
mangos o - 3 |$17.25 9 | $51.75
c D
Evanhas _ pears if he has 22 mangos. (E;T:;) Pay (E;EZ) Pay
3 $45.75 1 $15.25
4 $61 11 $25.25
5 $76.25 21 $35.25
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Ratios
14. The ratio of students to adults on a field trip is 70 to 7.
Which table correctly represents this ratio?

A B
Students | Adults Students | Adults

10 1 70 7

11 2 7 14

12 3 84 21
C D

Students | Adults Students | Adults

70 7 10 1
80 8 20 11
90 9 30 21

15. A recipe uses 4 cups of milk to make 24
servings. If the same amount of milk is used
for each serving, how many servings can be
made from three quarts?

1 gallon = 4 quarts
1 quart = 2 pints
1 pint = 2 cups
1 cup = 8 fluid ounces

(a) How many cups will you need to find the
number of servings for?

(b) How many servings can be made from that

many cups?

16. Arianys drives 5 miles in 10 minutes. If she
drove two hours in total at the same rate, how
far did she go?

(a) How many minutes did Arianys drive in
total?

(b) How many miles would Arianys drive in that
many minutes?

17. Alexandra bought two pounds of
strawberries for $12.80. What is the price, in
dollars per ounce of strawberries?

1 pound = 16 ounces

(a) How many ounces of strawberries did
Alexandra buy?

(b) What is the price of strawberries in dollars
per ounce?
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Ratios

18. A grocery store sells a bag of 3 oranges for $§1.92. How
much would it cost for 8 oranges?

19. It cost Eva $29.85 to send 199 text messages. How
much would it cost to send 179 text messages?

20. Olivia drove 105 miles in 3 hours. If she continued at
the same rate, how long would it take to travel 560 miles?
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Rational Number Conversions

1. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as
a mixed number.

2. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as

a mixed number.

3. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as

a mixed number.

4. Simplify: {75

5. Simplify: 775

6. Simplify: 12

7. Simplify: gg

8. Simplify: 55

40

32

2

70

18

9. Round 8.11 to the nearest tenth.

10. Round 2.1486 to the nearest hundredth.

11. Round 3.29 to the nearest whole number.

© Copyright DeltaM ath



Rational Number Conversions

12. Round 64899.4100117 to the nearest ten.

13. Round 531.775197122 to the nearest ten-thousandth.

14. Round 231469.335329 to the nearest thousand.

15. Convert 4% into an improper fraction.

17. Convert 2% into an improper fraction.

1 1

w |~

W=

W=

S ———————

21/3

18. Convert %5 into a mixed number.

19. Convert 7% into an improper fraction.

1

it

1

1

w =

W=
W~

16. Convert %1 into a mixed number.

42/3

20. Convert 6% into an improper fraction.

W=
W |

x
3

1
3

X
3

Az
3

W=

W=

W=

w =
=

11/3

21. Convert % into a mixed number.
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Rational Number Conversions

22. Convert 6% into an improper fraction. 28. Convert 0.637 to a fraction in simplest form.

23. Convert % into a decimal.
29. Convert 0.934 to a fraction in simplest form.

24. Convert into a decimal.

n—a|r—l
DO —

30. Convert 0.263 to a fraction in simplest form.

25. Convert é—g into a decimal.

31. Convert 0.676 to a fraction in simplest form.

26. Convert é—g into a decimal.

32. Convert 0.255 to a fraction in simplest form.

27. Convert % into a decimal.
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Rational Number Conversions

33. Convert .28 to a fraction in simplest form.

34. Convert .27 to a fraction in simplest form.

35. Convert .5 to a fraction in simplest form.

36. Convert .47 to a fraction in simplest form.

37. Convert .03 to a fraction in simplest form.
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Rational Number Operations

1. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

3.7
4 32

2. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

o1
17 17

3. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

11 8

8+3

4. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

7 11

16 20

5. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

17
10 10

6. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

LA
10 6

7. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

8. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

it (- 17
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Rational Number Operations

9. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

1 4

6 9

10. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

B
12 11

11. Perform the operation below. Express your answer as a

mixed number in simplest form.

3 T
415 — 235

12. Perform the operation below. Express your answer as a
mixed number in simplest form.

5 3
48 413

13. Perform the operation below. Express your answer as a
mixed number in simplest form.

3.5 + 22

14. Perform the operation below. Express your answer as a

mixed number in simplest form.

1 2
4l 412

15. Perform the operation below. Express your answer as a
mixed number in simplest form.

31443

16. Perform the operation below. Express your answer as a

mixed number in simplest form.

33— (- 1%)
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Rational Number Operations

17. Perform the operation below. Express your answer as a

mixed number in simplest form.

32 — 12

18. Perform the operation below. Express your answer as a

mixed number in simplest form.

- (1)

19. Perform the operation below. Express your answer as a

mixed number in simplest form.

~32 + 23

20. Perform the operation below. Express your answer as a

mixed number in simplest form.

~3}-1§

21. Perform the operation and simplify the answer fully.

L
8 4

22. Perform the operation and simplify the answer fully.

.8
7°3

23. Perform the operation and simplify the answer fully.

SIS [N

24. Perform the operation and simplify the answer fully.

R=TIS NI
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Rational Number Operations

25. Perform the operation and simplify the answer fully.

1 7

4 9

26. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

1 3

25

27. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

OOIU'\‘ |
/ot

28. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

L
8 7

29. Enter the missing values in the area model to find:
6-9 % Express your final answer as a mixed number or a
whole number.

In the model below, express values as whole numbers, improper
fractions, or mixed numbers. To enter a mixed number in the
model, use a space and the slash key. For example: 3 1/2.

9 4/5

According to the model above, 6 - 9‘—51 =

30. Enter the missing values in the area model to find:
20% = 4. Express your final answer as a mixed number
or a whole number.

In the model below, express values as whole numbers, improper
fractions, or mixed numbers. To enter a mixed number in the
model, use a space and the slash key. For example: 3 1/2.

4 20 1/2

According to the model above, 20% +4 =

31. Enter the missing values in the area model to find:
481—11 —+ 6. Express your final answer as a mixed number

or a whole number.

In the model below, express values as whole numbers, improper
fractions, or mixed numbers. To enter a mixed number in the
model, use a space and the slash key. For example: 3 1/2.

6 48 1/4

According to the model above, 481—11 +—6 =
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Rational Number Operations

32. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

33. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

—1% ¥ 3%

34. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

35. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

2.1
79

36. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

9
58 « =
T

37. Perform the operation and simplify the answer fully.
9 1
s T 13
1

3

38. Perform the operation and simplify the answer fully.

| |~1|u=

B =
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Rational Number Operations

39. Perform the operation and simplify the answer fully.

DO | =

L
10

(=[]
_|_

40. Perform the operation and simplify the answer fully.

41. Perform the operation and simplify the answer fully.
10

T
9
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Unit Rates/ Reasoning

1. It cost Josiah $0.27 to send 3 text messages. How
much does each text cost to send?

2. A grocery store sells a bag of 6 oranges for $2.58.
What is the cost of oranges, in dollars per orange? On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value.

dollars

0

A 4

(6]
oranges

3. Jace earned $81.00 at his job when he worked for 5
hours. What did he earn in one hour?

4. A grocery store sells a bag of 3 oranges for $1.17.
What is the unit cost? On the double number line below,
fill in the given values, then use multiplication or division
to find the missing value.

dollars

0

A 4

(0]

oranges

5. Genesis read 9 books in 3 months. If she reads at a
constant rate, how many books did she read each month?
Give your answer as a whole number or a FRACTION in
simplest form. On the double number line below, fill in the
given values, then use multiplication or division to find the
missing value.

books

0

A 4

(0]

months

6. Ellie drove 270 miles in 6 hours. On average, how fast
did she drive, in miles per hour?
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Unit Rates/ Reasoning

7. Isaiah earned $237.00 at his job when he worked for
10 hours. How much money did he earn each hour?

8. Jose earned $488.00 at his job when he worked for 20
hours. How much money did he earn each hour?

9. On average, Avani drinks % of a 10-ounce glass of
water in 15 minutes. How many glasses of water does she
drink in one hour? On the double number line below, fill in
the given values, then use multiplication or division to find
the missing value.

glasses

0

\ 4

o 60

minutes

10. A recipe requires 2% cups of milk for every % of a cup
of flour. How many cups of milk are required for each cup
of flour? On the double number line below, fill in the given
values, then use multiplication or division to find the
missing value.

cups of milk

0

[— [—

Y

\ 4

(0] 1

cups of flour

11. Amira conducted a scientific experiment. For a certain
time, the temperature of a compound rose 3%1 degrees in %
of an hour. What was the rate, in degrees per hour, that the
temperature of the compound rose? On the double number
line below, fill in the given values, then use multiplication
or division to find the missing value.

degrees

\ 4
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Unit Rates/ Reasoning

12. Jayden drove 21 miles in % hours. On average, how
fast did he drive, in miles per hour?

First, reason down from % to % Fill in (a), (b), and (c) on
the double number line below. Use fractions (proper or
improper) or whole numbers.

Then, reason up from the unit fraction and fill in (d).

N — @__ C)—
miles ] i !
hours : : |

1
B gy 3/5
Answer: miles per hour

13. Julian observes a marble travel along a horizontal path
at a constant rate. The marble travels % of the length of the
path in 30 seconds. At that rate, how many seconds does it
take the object to travel the full length?

First, reason down from % to % Fill in (a), (b), and (c) on
the double number line below. Use fractions (proper or
improper) or whole numbers.

Then, reason up from the unit fraction and fill in (d).

0 (©) : (a) _ (d) —

seconds ‘ ! !
full Iength:s | |
0 2 1
o /5
Answer: seconds
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14. The label on a 2 % -pound bag of seeds states that it will
cover an area of 455 square feet. What is the area that one
pound of seeds will cover?

First, reason down from 2% to % Fill in (a), (b), and (c) on
the double number line below. Use fractions (proper or
improper) or whole numbers.

Then, reason up from the unit fraction and fill in (d).

o [(OF— () J— @__

square feet

pounds ! !
L 1 7/3
Answer: square feet

15. Meena was driving down a road and after 4 hours she
had traveled 98 miles. At this speed, how many miles
could Meena travel in 10 hours? Fill out the table of
equivalent ratios until you have found the value of x.

Miles

98 1

Hours

After driving for 10 hours, Meena traveled miles.



Unit Rates/ Reasoning

16. For a given recipe, 2 cups of flour are mixed with 14 18. 10 customers entered a store over the course of 6
cups of sugar. How many cups of sugar should be used if minutes. Fill out a table of equivalent ratios and plot the
22 cups of flour are used? Assuming a constant ratio, fill points on the coordinate axes provided.
out the table of equivalent ratios until you have found the _
Customers | Minutes
value of x.
5 —
Flour | Sugar 10 6
2 14 15
A
20
18
16
g
=
£ 12
z
o 10
E ...................
§8 LT g
cups of sugar should be mixed with 22 cups of flour. = 6 LI I T I T T T I
AEEEEEEEEEEEEEEEEEEN
AIEEEEEEEEEEEEEEEEEEE
o) 5 10 15 20 25 30 35 40=x

Number of Customers

17. At a local print shop, 10 copies can be made for $4. At
this rate, how many copies could be made for $36? Fill out

the table of equivalent ratios until you have found the

value of x.
Copies | Dollars
10 4
It would cost $36 to make copies.
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Unit Rates/ Reasoning

19. Feng mowed 6 lawns in 9 hours. Fill out a table of 20. Connor's car used 7 gallons of gas to drive 210 miles.
equivalent ratios and plot the points on the coordinate axes Fill out a table of equivalent ratios and plot the points on
provided. the coordinate axes provided.
Lawns | Hours Miles | Gallons
2 o o 1
6 9 180 o
L 18 210 7
A }l
20 20
18 18
16 16
o g 14
g 12 =O 12
T &
S 10 B 10
[} -
'E 8 'é 8
= =]
ZE Z 6
4 4
2 2
[ 2 4 6 8 10 12 14 16 18 20=X o) 50 100 150 200 250 300 350 4oo= *
Number of Lawns Number of Miles

© Copyright DeltaM ath



Proportional Relationships

1. The table below shows Ayden's earnings on the job.

Time (hours) | Earnings (dollars)
11 $377.30
23 $788.90
35 $1200.50

What is the constant of proportionality between
earnings and time in hours?

2. Ariana buys 10 bottles of grapeftuit juice at the corner
store for a total cost of $11.80. If each bottle costs the same

amount, how much is each bottle of juice?

3. A company orders 15 boxed lunches from a deli for
$128.25. If each boxed lunch costs the same amount, what
is the unit cost of each boxed lunch?

© Copyright DeltaM ath

4. The length of a cell phone is 1.6 inches and the width
is 3.6 inches. The company making the cell phone wants
to make a new version whose length will be 1.2 inches.
Assuming the side lengths in the new phone are
proportional to the old phone, what will be the width of the

new phone?

5 A 7%-inch candle burns down in 10 hours. After how
many hours will it have burned 6% inches?

6. At the neighborhood grocery, 2.5 pounds of salmon
cost $21.35. Dianelys spent $12.81 on salmon. How
many pounds of salmon did she buy, to the nearest
hundredth of a pound?



Proportional Relationships

7. The table below shows Makayla's earnings on the job.

Time (hours) | Earnings (dollars)
15 $387
21 $541.80
27 $696.60

How much does she make in 13.5 hours?

8. The table below lists the masses and volumes of
several pieces of the same type of metal. There is a
proportional relationship between the mass and the volume
of the pieces of metal.

(cubicvc(;lnutlinn?eters) Mass (grams)
5:1 23.052
9.7 43.844
11.7 52.884

Determine the volume, in cubic centimeters, of a piece of
metal that has a mass of 62.828 grams. Round your
answer to the nearest tenth.

9. Julian was comparing the price of ground beef at two
stores. The equation y = 7.38 represents the total cost,
in dollars and cents, ¥, that it costs for  pounds of ground
beef at SuperGrocery A. The table below represents the
total cost, in dollars and cents, ¥, that it costs for  pounds

of ground beef at SuperGrocery B.

SuperGrocery B
Pounds (z) | Total Cost (y)
2 $18.72
2.5 $23.40
3.5 $32.76
4.5 $42.12

How much more expensive is it, per pound, to buy

ground beef at Store B than at Store A?
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Proportional Relationships

10. Two friends, Nicole and Xochitl, took summer jobs.
Nicole earned $424.80 in 18 hours. The graph below
represents Xochitl's earnings in dollars and cents, Yy, for
working & hours.

y

A Xochitl's Earnings
$600
$550
$500
$450
= $400
—~
= $350
8 (20,$350)
Nt
- $300
)
g
= $250
-
3+
&3 $200
$150 (10,$175)
$100
$50
] 5 10 15 20 25 30 35 40 45 50 55 60"
Hours Worked

How much more does Nicole earn per hour than
Xochitl?
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11. Scientists are preparing two satellites to be launched.
The equation y = 3000 represents the number of miles,
Y, that the satellite, Space Explorer A, flies in & hours. The
table below represents the number of miles, Y, that the

satellite, Space Explorer B, flies in & hours.

Space Explorer B
Hours (x) | Miles (y)
10 22000
19 41800
21 46200
25 55000

How much faster does Space Explorer A travel per hour
than Space Explorer B?

12. Given the speeds of each runner below, determine who
runs the fastest.

Emily runs 12 feet per second.
Will runs 510 feet in 46 seconds.
Stephanie runs 1 mile in 404 seconds.

Ron runs 874 feet in 1 minute.
A. Emily B. Will

C. Stephanie = D. Ron



Proportional Relationships

13. Given the speeds of each runner below, determine who
runs the fastest.

Noah runs 11 feet per second.
Jessica runs 625 feet in 42 seconds.
Zach runs 1 mile in 424 seconds.

Jake runs 644 feet in 1 minute.

A. Noah B. Jessica

C. Zach D. Jake

14. Given the speeds of each runner below, determine who
runs the fastest.

Frank runs 11 feet per second.
Emily runs 86 feet in 10 seconds.
Adam runs 1 mile in 388 seconds.

Noah runs 600 feet in 1 minute.

A. Frank B. Emily

C. Adam D. Noah

15. Given the speeds of each runner below, determine who
runs the fastest.

Stephanie runs 9 feet per second.
Ron runs 255 feet in 22 seconds.
Liz runs 1 mile in 362 seconds.

Emily runs 605 feet in 1 minute.

A. Stephanie  B. Ron

C. Liz D. Emily

16. Given the speeds of each runner below, determine who
runs the fastest.

Stephanie runs 8 feet per second.
Zach runs 485 feet in 47 seconds.
Liz runs 1 mile in 540 seconds.

Adam runs 676 feet in 1 minute.

A. Stephanie  B. Zach

C. Liz D. Adam
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Proportional Relationships

17. Scarlett practices the piano the same number of
minutes each day. The relationship between the number of
days, x, and the total number of minutes she practices, Y,

is represented by a graph drawn in the xy-plane.

If the point (2, 50) lies on the graph, what does the
ordered pair (2, 50) indicate?

A. Scarlett practices 50 minutes a day for 2 days
B. Scarlett practices a total of 50 minutes over 2 days
C. Scarlett practices a total of 2 minutes over 50 days

D. Scarlett practices 2 minutes a day for 50 days

18. Nayeli has just gotten a new job. The relationship

between the number of hours she works, &, and her total

earnings, Y, is represented by the graph below.

What does the ordered pair (2, 45) indicate?

y
A
375
350
325
300
275
250
225
200

175
150

125

Total Earning (in dollars)

100

75

50

25

o 1 2 3 4 5 6 7 8 9 10

Number of Hours

A. Nayeli earns $45.00 per hour for 2 hours
B. Nayeli earns a total of $2.00 over 45 hours
C. Nayeli earns a total of $45.00 over 2 hours

D. Nayeli earns $2.00 per hour for 45 hours
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12



Proportional Relationships

19. A grocery store sells sliced turkey by weight. The
relationship between the amount of turkey in pounds, &,
and the total cost in dollars of the sliced turkey, y, is
represented by the graph below.

What point on the graph represents the unit rate?

A

108
102
96
90
84
78
72
66
60
54
48
42
36
30
24
18

Total Cost (in dollars)

12

»x

(o] 1 2 3 4 5 6 7 8 9 10 11 12

Number of Pounds
A. (0,0) B. (1,6)

C. (6,1) D. (6,36)

20. A certain shade of purple paint is made by mixing blue

and red paint. The relationship between the number of

quarts of blue paint in the mix, &, and the number of quarts

of red paint, ¥, is represented by the graph below.

What is the constant of proportionality as shown in the

graph?
y
A
1
0.9
—_ 0.8
w
5
& 7
=
—~ 0.6
=
|
(33
8 o5
o
[«5]
—
B 04
=
8 0.3
5 0.2
0.1
o
o 0.2 0.4 0.6 0.8 1
Amount of blue paint (in quarts)
1 5 5 e
A. = B. g C. D. 3
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Proportional Relationships

21. Isaac is making lemonade from concentrate. The 22. Line NM represents a proportional relationship. Point
relationship between the number of quarts of concentrate, N lies at (14, 12) as shown on the graph below.
Z, and the number of quarts of water, ¥, is represented by Which ordered pair could represent the coordinates of
the graph below. point M?
What is the constant of proportionality as shown in the
A
graph? 18
A 16
30
14
27
o | 12 1 QN
% 21 | 10
&
£ 8 - 8
5
15 6
z
S 12
o 4
j=]
E 9
2
6
(6] 2 4 6 8 10 12 14 16 18 20>x
3
0] 3 6 9 12 15 18 21 24 27 30>x
Amount of Concentrate (in quarts) A (17.5 ) 15) B. (0.9 ) 0)
1 8 3 8 C. (15,175 D. (2,0
.2 BE: 02 D& (15, 17.5) (2,0)
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Proportional Relationships

23. Find the equation that represents the proportional 25. Find the equation that represents the proportional
relationship in this graph, for ¢ in terms of . relationship in this graph, for ¥ in terms of .
A A
10 30
27
8 24
21 /
6 18 //
15
4 12 //
L] , e
/ I
2 6 /’ /
L~ y
L~ ’ d
o 1 2 3 4 5 6 7 8 9 10 P o] 3 6 9 12 15 18 21 24 27 30> x
24. Find the equation that represents the proportional 26. Find the equation that represents the proportional
relationship in this graph, for ¥ in terms of . relationship in this graph, for ¢ in terms of .
A A
0.9 9 /
/
0.8 8 /
0.7 7
0.6 6
/
0.5 5 //
0.4 4 /
03 e 3 /
" / [
ai — ) //
/
o 0.2 0.4 0.6 0.8 1 P o 2 4 6 8 10 P
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Proportional Relationships

27. Find the equation that represents the proportional
relationship in this graph, for ¢ in terms of .

A
30
27
24

21

28. The table below shows that the number of miles driven
by Lillian is directly proportional to the number of gallons
she used.

Gallons Used | Miles Driven

29 539.4
47 874.2
50 930

If m represents the number of miles driven for any number
of gallons used, g, write a proportional equation for m in
terms of g that matches the context.

29. The proportional relationship between the number of
sweaters a clothing store buys and sells, s, and the profit, in
dollars and cents, that it makes off those sweaters, can be
represented by the equation p = 218. What is the profit in
dollars and cents that the store makes per sweater?

30. The table below shows a proportional relationship

between g and h.
g h
96 12
144 | 18
160 | 20

Write a proportional equation for / in terms of g. Use a
whole number or fraction, not a decimal, in your equation.

© Copyright DeltaM ath 9



Using Percent

1. Caimisses 2% of the free throws he attempts in a
season. How many total free throws did he attempt if he
missed 46?

Multiply/scale up to solve.

attempts
46

\ 4

Y

2 100
percent

2. Taub made 25% of her free throws over the season. If
she shot 180 free throws, how many did she make?

Divide/scale down to solve for the missing percent.

attempts
180

A 4

A 4

25 100
percent

3. All students in Ridgewood Junior High School either
get their lunch in the school cafeteria or brought it from
home on Tuesday. 5% of students brought their lunch. 49
students brought their lunch. How many students in total
are in Ridgewood Junior High School?

Multiply/scale up to solve.

students

49

\ 4

A 4

5 100
percent

© Copyright DeltaM ath

4. There are 160 students in the seventh grade, and 25%
are in the Environmental Club. How many students are in
the Environmental Club? On the double number line
below, fill in the values given in the problem then scale up
or down to find the missing value.

students

\ 4

A 4

100

percent

5. Bob's gift shop sold a record number of cards for
Mother's Day. One salesman sold 50 cards, which was 25%
of the cards sold for Mother's Day. How many cards were
sold for Mother's Day? On the double number line below,
fill in the values given in the problem then scale up or
down to find the missing value.

cards

A 4

Y

percent

6. Nolan misses 5% of the free throws he attempts in a
season. How many total free throws did he attempt if he
missed 42? On the double number line below, fill in the
values given in the problem then scale up or down to find
the missing value.

attempts

— — — g
T

v

\ 4

100

percent



Using Percent

7. At a football stadium, 20% of the fans in attendance
were teenagers. If there were 20 teenagers at the football
stadium, what was the total number of people at the

stadium?

8. 400 students attend Ridgewood Junior High School.
4% of students bring their lunch to school everyday. How
many students brought their lunch to school on Thursday?

9. All students in Ridgewood Junior High School either
got their lunch in the school cafeteria or brought it from
home on Tuesday. 25% of students brought their lunch. 37
students brought their lunch. How many students in total
are in Ridgewood Junior High School?

10. What is 15% of 6607

11. 504 is what percent of 6007

12. 429 is what percent of 6507

13. 71.2 is what percent of 1287 Round to the nearest
hundredth.

14. Find 112.1% of 186. Round to the nearest tenth.

15. Find 129.9% of 414. Round to the nearest hundredth.
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Using Percent

16. A bakery sold a total of 60 cupcakes in a day, and 55%
of them were mocha flavored. How many of the cupcakes
sold that day were mocha flavored?

17. At a baseball game, 39% of people attending were
supporting the home team, while 61% were supporting the
visiting team. If 1053 people attending the game supported
the home team, what was the total number of people

attending the game?

18. Jordan has a mask collection of 360 masks. He keeps
162 of the masks on his wall. What percentage of Jordan's
mask collection does he keep on his wall?

19. Josue has a loyalty card good for a 18% discount at his
local pharmacy. What number should he multiply the
prices on the tags by to find the price he would have to
pay, before tax, in one step?

20. Skylar went shopping for a new phone. Sales tax where
she lives is 10%. What number should she multiply the
price of the phone by to find the total plus tax in one step?

21. Gabriella invests money in an account paying a simple
interest of 3% per year. If no money will be added or
removed from the investment, what should she multiply
her current balance by to find her total balance in a year in

one step?

22. Arianys has a loyalty card good for a discount at her
local grocery store. To find the total she has to pay, before
tax, she multiplies the prices by 0.93. What percent

discount does the card give?

23. The population of a city decreases by 1.9% per year.
What should we multiply the current population by to find
next year's population in one step?
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Using Percent

24. The population of a city increases by 1.4% per year.
What should we multiply the current population by to find
the next year's population in one step?

25. Tyler has a loyalty card good for a discount at his local
pharmacy. The item he wants to buy is priced at $8, before
discount and tax. After the discount, and before tax, the
price is $6.88. Find the percent discount.

26. One year, the population of a city was 92,000. Several
years later it was 105,800. Find the percent increase.

27. Xavier went shopping for a new camera. The listed
price of the camera was $38, but the price with tax came to
$39.14. Find the percent sales tax.
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Signed Numbers

1. Point B is located at 12. Plot Point B on the number
line below.

A
A\ 4

2. Point Y is located at 8. Plot Point Y on the number line
below.

3. Point K is located at —9. Plot Point K on the number
line below.

4. Point T is located at —18. Point U is 4 greater than
point T. (a) Plot point U on the number line below.
(b) State where U is located.

5. Point M is located at —8. Points N and O are each 6
units away from point M. (a) Plot point N and point O on
the number line below. (b) State where N and O are
located.

10

-10

-20
-25

-30
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Signed Numbers

6. Point S is located at —1. Point T is 3 greater than
point S. (a) Plot point T on the number line below. (b) State

where T is located.

-15
-20
-25

-30

7. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

445=

8. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

6 —4
pra h
<«<r—T—TTT"""T"T"TTTTTTTT1TT>
-10 9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 §5 6 7 9 10

[}

6—4=

9. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

10. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

11. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.
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Signed Numbers

12. Find the result graphically in three different ways, 13. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final jumps in a positive or negative direction to find the final
answer. answer.
—7+5+3 7T—6—2
R A R R R o9 8 7 6543210133456 7 8 910
[ ] [ ]
¥ T T T T T T N R R R 4098 7 6-5-4-3-2-10123456 7 8 910
[ ] [ ]
R A A S B S A S S S AAS 1098 7 6-5-4-3-2-101234567 8910
[ ] ®
What final answer do all of these three diagrams give? What final answer do all of these three diagrams give?
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Signed Numbers

14. Find the result graphically in three different ways, 15. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final jumps in a positive or negative direction to find the final
answer. answer.
—4—-2+8 3+6—-2
R A R R R o9 8 7 6543210133456 7 8 910
[ ] [ ]
¥ T T T T T T N R R R 4098 7 6-5-4-3-2-10123456 7 8 910
[ ] [ ]
R A A S B S A S S S AAS 1098 7 6-5-4-3-2-101234567 8910
[ ] ®
What final answer do all of these three diagrams give? What final answer do all of these three diagrams give?
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Signed Numbers

16. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final
answer.

6+3—2

< h -
€< T——T——T—TTTTT"T""TTTT T T T T 1T T 1>
-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

A A
e YL T T T T T T T T T T T T T T T T T T T LI
-109 -8 -7 -6 -5-4-3-2-10 12 3 4 5 6 7 8 9 10
[}
<L h .

i L I [N WP NN W NN RN DN NN NN IR RN RN NN NN RN W RN NN REN N
;109 -8 -7 6 -5-4-3-2-101 2 3 4 5 6 7 8 9 10

What final answer do all of these three diagrams give?

17. Write the numbers below in order from least to

greatest. Use commas to separate.

19| -2||—20||—6||—15||—14

18. Write the numbers below in order from least to
greatest. Use commas to separate.

—16|[-18][17|[-9 @ 12

19. Write the numbers below in order from least to
greatest. Use commas to separate.

—19 —3||11||—18

20. Write the numbers below in order from least to
greatest. Use commas to separate.

—5.6||—16(|—11.2||13.1||—-15.6||—5.2

21. Write the numbers below in order from least to
greatest. Use commas to separate.

—4.711-0.8||—0.4|[4.8| |—12.8| | —19.4

22. Write the numbers below in order from least to

greatest. Use commas to separate.

—5.41144||-7.8]|—-15.2||—-14.8||-3.5

23. Write the numbers below in order from least to

greatest. Use commas to separate.

0.65||—1.96||—1.47||-1.2||—-1.71| |0.68
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Signed Numbers

24. Write the numbers below in order from least to
greatest. Use commas to separate.

—0.63|]1.55||0.9||—-0.19||-0.01| | —-0.66

25. Write the numbers below in order from least to
greatest. Use commas to separate.

1.57|-1.9(|0.87||—1.93| | —1.15| [1.11

26. Which expression is equivalent to —38.3 — 95.2?

A. —952—(—38.3)
B. 95.2 — (—38.3)

C. —38.3—(-95.2)
D. —38.3+(—95.2)

27. Which expression has the same value as 10% + 7%?

>

101 — (=72) B. 72+ (-10})

C. 103 — 73 D. —73-103

28. Which expression has the same value as —2x — 5y?
A. —2z+(—5y) B. 2z -+ (—by)

C. by — (—2z) D. —5y—(—2z)

29. Which expression is equivalent to —5 + (—7)‘?
A 7—(-5) B. —7—(-5)

C. —7+5 D. —-5-7

30. Which expression is equivalent to —3 — 67?
A, —6+3 B. 6 —(—3)

C. —6-(=3) D. —3+(=6)

31. Which expression is equivalent to
—3.2 4 (—80.3)?
A. —80.3—-(-3.2) B. 3.2—-(-80.3)

C. —80.3—3.2 D. 80.3+ (—3.2)

32. Which expression is equivalent to —8 — 10?
A, —10+8 B. 8 +(—10)

C. —10+(-8) D. —10—(-8)

33. Which expression is equivalent to —1% — (—7%)?
5 1 1 3
A T+ 1 B. -1 +73

C. 73— (-13)

1 3
D. 11 473
34. Which expression has the same value as 10 + (—4)?
A 10-4 B. —4+(-10)

C. 4-10 D. 10— (-4)

35. Which expression has the same value as

—6y + (—6x)?
A, —6x— (—6y) B. — 6z — 6y
C. —6y—(—6zx) D. —6y-+6x
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Algebraic Expressions

1. What is the value of the expression 5y — 7 when
y=29?

2. What is the value of the expression 822 — 10z — 6
when 2 = 3?

3. What is the value of the expression 5 — 4y when
r =8andy = 5?

4. Combine like terms.

By —5y° —5+2+2+3y° -1

5. Combine like terms.

52> +4+6y—1+3y—4z’—5

6. Combine like terms.

6m3+5y3+4+y3+6+$3—3:ﬂ3

7. Which expression is equivalent to —6 + h — 9h?
A. — 14h B. —5—-9h

C. —16h D. —8h—6

8. Which expression is equivalent to

—3a+1—9a —10?
A -21 B. —2la

C. —12a—-9 D. —2a—-19
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Algebraic Expressions

9. The width of a rectangle measures (6d + 9)
centimeters, and its length measures (5d - 8)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A.2422d B. 15d-3

C. 30d — 6 D. 11d+1

10. Which expression is equivalent to 97 + r — 7r?

A. 9r B. 14 8r

C. —11r D.r+8

11. The width of a rectangle measures ( 6m + 2n)
centimeters, and its length measures (9m — 9n)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A 30m+2—-18n B. 30m— 14

C. 30m — 14n D. 15m -7

12. A triangle has side lengths of (3.1s + 2.5t)
centimeters, (4.68 -+ 5.2u) centimeters, and
(8.4u — 8.9t) centimeters. Which expression represents

the perimeter, in centimeters, of the triangle?
A. 775 — 6.4t + 13.6u

B. 16.1su — 1.2tu

C. —0.5u+7.7s 4 7.7t

D. 5.6st + 9.8su — 0.5tu

13. The width of a rectangle measures (4.2m — 1.2n)
centimeters, and its length measures (8.4m - 5.5n)
centimeters. Which expression represents the perimeter, in

centimeters, of the rectangle?
A. 252m —11n—1.2 B. —13.4+425.2m

C. —13.4n+ 25.2m D. —6.7+ 12.6m

14. Which expression is equivalent to

0.32t 4+t — 0.53?
A, 0.79t B. 1.32t — 0.53

C. —1.21t D. 0.32¢t 4 0.47
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Algebraic Expressions

15. Which expression is equivalent to

0.83v + v — 0.69v?
A 1.14v B. —0.52v

C. 1+0.14v D. v+0.14

16. Which expression is equivalent to

43w +4.2+ 29w — 1.7?
A 14w+25 B. 25+ 72w

C. 14w +5.9 D. 8.5w + 1.2

17. Write an equivalent expression by distributing the "—"

sign outside the parentheses:

—(—0.9m + 5n) — 2

18. Write an equivalent expression by distributing the "—"

sign outside the parentheses:

—(~Tw + 2.4z — 6)

19. Write an equivalent expression by distributing the "—"

sign outside the parentheses:

—(—8.7z — 9)

20. Write an equivalent expression by distributing the "—"

sign outside the parentheses:

0.6f — (—2g + 1)

21. Write an equivalent expression by distributing the "—

sign outside the parentheses:

—(—6p — 9.2q — 2.3)

22. Use the distributive property to write an equivalent

expression.

4(v + 2w)

23. Use the distributive property to write an equivalent

expression.

5(6z + 3y — 6)

24. Use the distributive property to write an equivalent

expression.

(65 — Tt + 4)

25. Use the distributive property to write an equivalent

expression.

8(8p + 10)

26. Use the distributive property to write an equivalent

expression.

3(s — 10t + 1)

27. Rewrite in simplest terms: 8(—6f — 8) + 5 f
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Algebraic Expressions

28. Rewrite in simplest terms:

~9(4n — 3) — 3(—n — 8)

29. Rewrite in simplest terms: —6a — 8(2a — 1)

30. Rewrite in simplest terms:

—5(—7r —8 —3) —9r

31. Rewrite in simplest terms:

—10(—10g + 3h) — 9h — 2(—10h — 10g)

32. Which expression is equivalent to the expression
below?

5(6v +6) — Tv
A. 37v+6  B. 5(6v+6—Tv)

C. 18v +11 D. 23v+ 30

33. Which expression is equivalent to the expression
below?

f+f+Ff+f+f+Ff+Ff+a+a+a
A fTg8 B. 10fg

C.1+¢2 D.7f+3g

34. Which expression is equivalent to the expression
below?

wtw+w+w+w

A. Sw B. 5 C. % D. w®

35. Which pair of expressions below are equivalent?
A. 6r + 3r and 9r?

B. 6(3r — 8) and 18r — 48

C. 6r —3sand 3s — 6r
D

. 6(3r —8) and 187 — 8
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Algebraic Expressions

36. Which expression is equivalent to the expression
below?

6(7t) + 3t
A. 25t B. 42t + T2

C. 10t+6 D. 45t
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Solving Equations

1. Find the value of & in the equation below.

30 =3z

2. Find the value of & in the equation below.

17T=z+1

3. Find the value of @ in the equation below.

T=x-—9

4. Find the value of T in the equation below.

5. Find the value of @ in the equation below.

6. Find the value of @ in the equation below.

z—15.3 =281

7. Find the value of Z in the equation below.

22 =128

8. Find the value of Z in the equation below.

29— 2
=75

9. Find the value of Z in the equation below.

13 =z +10.2

10. Find the value of Z in the equation below.

r+1=55
11. Solve for a.
a—6=-9
12. Solve for c.
4 =¢+10
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Solving Equations

13. Solve fory.

—2=-10+y
14. Solve for t.
8+t=7
15. Solve for n.
T=n-—2
16. Solve fory.
—60 = 12y
17. Solve for s.
48 = 8s
18. Solve for t.
60 = 12t

19.

20.

21

22.

23.

24,

Solve for n.

Solve for s.

Solve for n.

Solve for s.

Solve for s.

Solve forr.

© Copyright DeltaM ath
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Solving Equations

25. Solve for b.

26. Solve for 1 and simplify your answer.

—5n— 10
3" =

27. Solve for s and simplify your answer.

3 5
—3 = —s
2

28. Solve for r and simplify your answer.

10 = S
= 51'

29. Solve for w and simplify your answer.

_3 — 7
2 =

30. Solve for w and simplify your answer.

4 = —8
3"~
31. Solve for c.
8 = —3c+ 29
32. Solve for b.
b
14— - =17
8
33. Solve for a.
—56 = 5a — 11
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Solving Equations

34. Solve for b.

b+ 2 =23
35. Solve for b.
6b — 11 = —23
36. Solve for a.
a
——4+0.7T=17.
0.2 + 17.2

37. Solve for b.
1.5 —0.80 = —1.38

38. Solve for a.
-3.64 = —0.7T— 2.1a

39. Solve for a.
0.4a +0.4 = —0.92

40. Solve for z.

2
— = —26+ —
10.35 + 04

41. Solve for z.

1+ -2=6
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Solving Equations

42. Solve for c.

3
6=-—-15+ =
+ 7C
43. Solve for b.
1
16 =12+ -b
i 5
44. Solve for b.
1
39 =15+ =b
= 2
45. Solve for z.
4

46. Solve. 3(236 — 1) =9

47. Solve. 3(bx —T7) =9

48. Solve. 3(2y —7) =9

49. Solve. 2(236 + 8) =94
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Solving Equations
50. Solve. 5(y + 3) = 25

51. Which equation has the solution £ = 6?
A 6z+3=30 B. 2x+9=39

C. bz —8 =22 D. 6x+6=—-42

52. What value of @ makes the equation below true?

2c +7 =13

A3 B.7 C. 10 D.16

53. Which equation has the solution z = 8?
A 9 +9=281 B. 52 —3 =141

C. bx+ 2 =67 D. 8¢ +1=-65

54. What value of 2z makes the equation below true?

9z —1=53

A1 B. 2 C.6 D. 10

55. What value of w makes the equation below true?

4w —4 =38

A1l B.3 C. 4 D.15
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Equationsin Context

1. Under her cell phone plan, Skylar pays a flat cost of
$50 per month and $3 per gigabyte. She wants to keep her
bill at $60.20 per month. How many gigabytes of data can
she use while staying within her budget?

2. Dianelys has a points card for a movie theater.
¢ She receives 25 rewards points just for signing up.

» She earns 10.5 points for each visit to the movie

theater.

» She needs 88 points for a free movie ticket.
How many visits must Dianelys make to earn a free movie
ticket?

3. Adam buys cheese and onions at the store.
« He pays a total of $37.96.
» He pays a total of $5.06 for the cheese.

+ He buys 5 bags of onions that each cost the same
amount.
How much does each bag of onions cost?

4. Paisley wants to ride her bicycle 23.5 miles this week.
She has already ridden 7 miles. If she rides for 5 more
days, what is the average number of miles she would have

to ride each day to meet her goal?

5. Members of a soccer team raised $1673.50 to go to a
tournament. They rented a bus for $869.50 and budgeted
$50.25 per player for meals. Determine the number of
players the team can bring to the tournament.
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Equationsin Context

6. Jacob took a taxi from his house to the airport. The taxi 7. Sadie needed to get her computer fixed. She took it to

company charged a pick-up fee of $3.80 plus $4.25 per the repair store. The technician at the store worked on the
mile. The total fare was $63.30, not including the tip. computer for 5.75 hours and charged her $90 for parts. The
Which equation or tape diagram could be used to represent total was $808.75. Which equation or tape diagram could
the context if ™ represents the number of miles in the taxi be used to represent the context if & represents the cost of
ride? labor per hour?
A A
3.8m +4.25 = 63.3 o i
B | = | = i x L] 90 |
/’_—’_5/9-3_*«\ 5.75%
| 425 | 425 | 425 | 3.8 | B
4.25m 5.75%
C | x L ox i ox | 90 |
4.25m = 63.3 — 3.8 808.75
D C
3.8m B 808.75 — 5.75
38 i 38 | 38 . 425 v 90
T s D

808.75 = 90z + 5.75
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Equationsin Context

8. A group of friends wants to go to the amusement park.
They have $176.50 to spend on parking and admission.
Parking is $9, and tickets cost $16.75 per person, including
tax. Which tape diagram could be used to represent the
context if & represents the number of people who can go to

the amusement park?

A
16.75%
| 16.75 16.75 16.75 | 9 |
\\——V__—_//
176.5
B
159.75
/—_—_/A\—___\
9 9 9 16.75
ox
C
176.5
/_’_—’—/\—b_«\
| 9 E 9 5 9 | 16.75 |
9x
D
159.75
.f__——//\——__\.
| 16.75 16.75 16.75 | 9 |
16.75X

9. Connor buys cheese and potatoes at the store.
e He pays a total of $31.30.
» He pays $2.68 for the cheese.

» He buys 6 bags of potatoes that each cost the same
amount.
Which equation could be used to determine &, how much

each bag of potatoes costs?

A, g — 2:68-3L3

) B. 31.3 = 6(z + 2.68)
_ 31.3-6
C. 62+268=313 D T= .

10. Under his cell phone plan, Ayden pays a flat cost of
$55.50 per month and $5 per gigabyte. He wants to keep
his bill at $69.50 per month. Which equation or tape
diagram could be used to represent the context if
represents the number of gigabytes of data Ayden can use

while staying within his budget?

A
| > | 555 | ss5 | o555 L]
B
5z + 55.5 = 69.5
C
.
5 5 i 5 . B E
s
D

5(55.5 4+ x) = 69.5
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Equationsin Context

11. Which of the following equations corresponds to the
diagram below?

w w 28
S —
40
A 40+-28=w B. 2w+ 28 = 40

C. 284w =140 D. 40 =28 = 2w

12. Which of the following equations corresponds to the
diagram below?

3 Yy
e
16
A 3y=16 B. 16y =3
C.y+16=3 D. 34+y=16

13. Which of the following equations corresponds to the
diagram below?

w w
S —
14
A.2—w=14 B. w+w=14
C.w+2=14 D.2-w=14

14. Which of the following equations corresponds to the
diagram below?

w 8
S—
9
A. 9w =38 B.8+w=9
C.w—-8=9 D. 8w =29

15. Which of the following equations corresponds to the
diagram below?

16

A 4z =16 B. 4416z =20

C.4+-2z=16 D. 16z=4

16. Which of the following equations corresponds to the

diagram?

y+10 | y+10 | y+10 | y+10 | y+10

22

A. 10+5y=22 B. 22(y+10)=5

C. 22=y+10  D. 5(y+10) =22

17. Which of the following equations corresponds to the

diagram?
b+o b+9g b+9 b+o
S—
92
A. b+36=092 B. 92 = 36b

C. 92b4+9=14 D. 23=0b0+9
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Equationsin Context

18. Which of the following equations corresponds to the

diagram?
z+7 | z+7 | z+7 | z+7 | z+7
S—
73
A 73=5(z+17) B. 73z2=17

C. 13(z+7) =5 D. 73247=5

19. Which of the following equations corresponds to the

diagram?
a+1 a+1
42
A a+1=142 B. a4+2=42
C. 42=2a+2 D. 1+2a=42

20. Which of the following equations corresponds to the

diagram?
xX+5 x+5 x+5 x+5
—
38
A 4=5+382 B. 38=4(x+5)
C. 5=238z D. 38(zx+5)=4

21. Camila bought snacks for her team's practice. She
bought a bag of chips for $3.04 and a 15-pack of juice
bottles. The total cost before tax was $31.54. Write and
solve an equation which can be used to determine j, how

much each bottle of juice cost.

© Copyright DeltaM ath

22. Arun buys cheese and oranges at the store.
e He pays a total of $47.94.
» He pays a total of $5.03 for the cheese.

¢ He buys 7 bags of oranges that each cost the same
amount.
Write and solve an equation which can be used to

determine 2, how much each bag of oranges costs.

23. Members of a baseball team raised $2007.50 to go to a
tournament. They rented a bus for $1191.50 and budgeted
$68 per player for meals. Write and solve an equation
which can be used to determine , the number of players

the team can bring to the tournament.

24. Amelia took a taxi from her house to the airport. The
taxi company charged a pick-up fee of $3.60 plus $1 per
mile. The total fare was $25.60, not including the tip. Write
and solve an equation which can be used to determine M,

the number of miles in the taxi ride.



Equationsin Context

25. Under his cell phone plan, Jai pays a flat cost of $69.50
per month and $3 per gigabyte. He wants to keep his bill at
$72.80 per month. Write and solve an equation which can
be used to determine x, the number of gigabytes of data Jai
can use while staying within his budget.
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Geometry Review

1. Identity ZBC'F' by by marking it with an arc on the

diagram.

2. Identify ZE AC' by by marking it with an arc on the

diagram.

3. Identify /B H A by by marking it with an arc on the

diagram.

4. Which angle number represents an angle vertical to

LAGD?
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Geometry Review

5. Which angle number represents an angle adjacent to 6. fm/VYU = 67°, then whatism/TY W?
LNSM?

A

7. Find the measure of the missing angle.

120°

2 © Copyright DeltaM ath



Geometry Review

8. Find the measure of the missing angle.

32°

A 4

9. Find the measure of the missing angles.

10. Find the degree mea

sures x and y of the

missing angles in the diagram below.

A

A

51°

A

Y

© Copyright DeltaM ath

11. Find the degree measure a of the missing
angle in the diagram below.

12. Find the degree measures d, e, and f of the
missing angles in the diagram below.

d 61°

34°

13. The radius of a circle is 17 ft. Find its circumference in
terms of 7.

14. The diameter of a circle is 9 ft. Find its circumference

in terms of 7.



Geometry Review

15. The diameter of a circle 1s 16 ft. Find its circumference

in terms of 7T.

16. The radius of a circle is 10.9 ft. Find the circumference
to the nearest tenth.

17. The diameter of a circle is 13 in. Find the
circumference to the nearest tenth.

18. Find the Perimeter of the figure below, composed of a
square and four semicircles. Rounded to the nearest tenths
place

19. Find the Perimeter of the figure below, composed of a
parallelogram and one semicircle. Rounded to the nearest
tenths place

4 © Copyright DeltaM ath



Geometry Review

20. Find the Perimeter of the figure below, composed of a
rectangle and two semicircles. Round to the nearest tenths
place.

21. The diameter of a circle is 18 cm. Find its area in terms
of .

22. The radius of a circle is 20 in. Find its area in terms of
.

23. The diameter of a circle is 12 in. Find its area in terms
of .

24. The radius of a circle is 21 m. Find its area to the
nearest whole number.

25. The diameter of a circle is 14 m. Find its area to the
nearest whole number.

26. Find the Area of the figure below, composed of a
rectangle with two semicircles removed. Round to the
nearest tenths place.

16

4
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Geometry Review

27. Find the Area of the figure below, composed of a 29. What is the volume, in cubic feet, of a cube with an
rectangle with a semicircle removed from it. Round to the edge length of 3 feet?
nearest tenths place.

14

30. What is the volume, in cubic ft, of a rectangular prism
with a height of 13ft, a width of 15ft, and a length of 91t?

28. Find the Area of the figure below, composed of a
parallelogram and two semicircles. Round to the nearest

tenths place.

31. A rectangular prism has a length of 13 meters, a height

of 18 meters, and a width of 5 meters. What is its volume,

1n cubic meters?
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Ratios

1. Find the ratio of squares to total shapes in the diagram
below.

1O
O
1O

Unsimplified ratio of squares to total shapes:

For every 1 square there are 2 total shapes, therefore the

simplified ratio of squares to total shapes is 1 : 2.

2. Find the ratio of triangles to circles in the diagram
below.

>
000

ot

Unsimplified ratio of triangles to circles:

For every 1 triangle there are 1 circles, therefore the simplified

ratio of triangles to circlesis 1 : 1.

3. Find the ratio of squares to total shapes in the diagram
below.

Qoo
L1OO
OO
OO

Unsimplified ratio of squares to total shapes:

For every 1 square there are 3 total shapes, therefore the

simplified ratio of squares to total shapes is 1 : 3.

ANSWER KEY

4. There are 42 lollipops and 60 candy bars for a gift bag.
In other words, lollipops and candy bars are in a 42:60

ratio.
L L L L L L L cCc cCCcCCCoccCcccce
L L L L L L L ¢c CcCCcCccCcccccecoc
L L L L L L L c CcCcCccCcccccc
L L L L L L L cCc CcCCcCccCcCccccc
L L L LLL L cCc CcCCcCCcCcCcC cc c cc
L LLLULTULTL cCc ccCcCcCccccccce

These lollipops and candy bars can be put into smaller
equal groups. For example, an equivalent ratio of 21:30
can be grouped like this:

iii c CcC CCcCZC ;Ei c Cc CcCC
L L L c CcC C CC L L L ¢c ¢ C CC
L L L ¢c CcC CcCccC L L L ¢c CcC C CCcC
L L L C C C C C L L L ¢C C C CC
L L L ¢c CcC CcCcc L L L ¢cC CcC CcCcCcC
L L L c CcC C CC L L L c CcC C CC

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are lollipops for every candy bars.

All equivalent ratios:

There are 42 lollipops for every 60 candy bars (42:60 ratio)
There are 21 lollipops for every 30 candy bars (21:30 ratio)
There are 14 lollipops for every 20 candy bars (14:20 ratio)
There are 7 lollipops for every 10 candy bars (7:10 ratio)

One possible drawing (14:20 ratio):

L L L L L L

L L C ¢ CC L L C C C C L L c C C C
L L ¢ C C C L L ¢C C C C L L c CcC C C
L L cC C CC L L CcC C C C L L c CcC Cc¢C
L L C C C C L L ¢cC C C cC L L c CcC Cc cC
L L c C C C L L cC C C C L L c CcC Cc cC
L L L L L L
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Ratios

5. There are 6 apples and 24 bananas for a fruit basket. In
other words, apples and bananas are in a 6:24 ratio.

B B B BB B
A A A B B B B BB
A A A B B B B BB
B B B B BB

These apples and bananas can be put into smaller equal
groups. For example, an equivalent ratio of 3:12 can be

grouped like this:
B B B B B B
A A
B B B B B B
A A
A B B B A B B B
B B B B B B

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are apples for every bananas.

All equivalent ratios:

There are 6 apples for every 24 bananas (6:24 ratio)
There are 3 apples for every 12 bananas (3:12 ratio)
There are 2 apples for every 8 bananas (2:8ratio)
Thereis 1 apple for every 4 bananas (1:4 ratio)

One possible drawing (2:8 ratio):

B B B B B B
A B B A B B A B B
A B B A B B A B B
B B B B B B

6. There are 18 dogs and 42 cats at a pet daycare. In other
words, dogs and cats are in a 18:42 ratio.

c ¢ CCCCcCZcC
DDDDODD c ¢ C CCCC
c ¢ CCCCC
D DDDDD
DDDDODD c ¢ccCccCcCcCccc
c ¢ CcCCCCcCZcC
c ¢ CCcCccCcZc

These dogs and cats can be put into smaller equal groups.
For example, an equivalent ratio of 9:21 can be grouped
like this:

oo
ooo
oo
QR0 8 aae
Qo aaa
alsfofofelalle)
gouo
oouo
gouo
QOO e oae
@ a a aee
e oea

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are dogs for every cats.

All equivalent ratios:

There are 18 dogs for every 42 cats (18:42 ratio)
There are 9 dogs for every 21 cats  (9:21ratio)
There are 6 dogs for every 14 cats  (6:14 ratio)
There are 3 dogs for every 7 cats  (3:7ratio)

One possible drawing (6:14 ratio):

ooy
oouo
aaaaaaa
aaoaaaaaaQ
ogouo
oguoug
aaoaaaQaQ
aacaaaaa
ooug
ogouo
aaoaaaaa
aaoaaaaaa
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Ratios

7. There are 8 lollipops and 24 candy bars for a gift bag.
In other words, lollipops and candy bars are in a 8:24 ratio.

c C CCCZC
L L L L cC ¢ C C CC
L L L L c C C C C C
c cccCccc

These lollipops and candy bars can be put into smaller
equal groups. For example, an equivalent ratio of 4:12 can
be grouped like this:

&t Eb
ol =
Qaaa
aQaaQ
aaaa
e
il ek
Qaaa
QaaaQ
aQaa

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are lollipops for every candy bars.

All equivalent ratios:

There are 8 lollipops for every 24 candy bars (8:24 ratio)
There are 4 lollipops for every 12 candy bars (4:12 ratio)
There are 2 lollipops for every 6 candy bars (2:6 ratio)
Thereis 1 lollipop forevery 3 candy bars (1:3 ratio)

One possible drawing (2:6 ratio):

8. There are 48 apples and 40 bananas for a fruit basket.
In other words, apples and bananas are in a 48:40 ratio.

A A A A A A A A

B BB BBDBBB
A A A A A A A A

B B BB BBB B
A A A A A A A A

B B B BBBBB
A A A A A A A A

B B B BBDBBB
A A A A A A A A BEBBBBGBEBEBRB
A A A A A A A A

These apples and bananas can be put into smaller equal
groups. For example, an equivalent ratio of 24:20 can be

grouped like this:
AAAA AAAA

B B B B B B B B
A A A A A A A A

B B B B B B B B
AAAA AAAA

B B B B B B B B
A A A A A A A A

B B B B B B B B
A A A A BB BB A A A A BB B B
A AAA A AAA

Find another equivalent ratio. Use your ratio to fill in the
blanks, and then draw the groups below.

There are apples for every bananas.

All equivalent ratios:

There are 48 apples for every 40 bananas (48:40 ratio)
There are 24 apples for every 20 bananas (24:20 ratio)
There are 12 apples for every 10 bananas (12:10 ratio)

i c C & c c L c c : c C There are 6 apples forevery 5 bananas (6:5 ratio)
cc ccC ¢ c cc
L cc L Ccc L Ccc L ccC .
One possible drawing (12:10 ratio):
B B B B B B B B
A A A A A A A A A A A A
AAABBlAAA DBl AAA DB Aaaa DD
Bk & prol|ladh Jo|ARA D S| AL AT
AAA Rl AAAS | AAA S lAAA g
9. Genesis has kiwis and limes in a ratio of 94:20. How
many kiwis does she have if she has 10 limes? (a) On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value. (b)
Complete the sentence.
iD)
limes ¥ \
o} 10 20
o 47 94
kiwis
D,
Genesis has 47 kiwis if she has 10 limes.
ANSWER KEY © Copyright DeltaM ath



Ratios

10. Wyatt has kiwis and bananas in a ratio of 25:58. How
many bananas does he have if he has 75 kiwis? (a) On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value. (b)
Complete the sentence.

7N

bananas
0 58 174
(o} 25 75

kiwis
¥ X3

Wyatt has 174 bananas if he has 75 kiwis.

11. Evan has mangos and pears in a ratio of 11:76. How
many pears does he have if he has 22 mangos? (a) On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value. (b)
Complete the sentence.

e X 2 N
pears

0 76 152
1 1 h -
. r >
h .
T L Ll
(6] 11 22
mangos

N A

Evan has 152 pears if he has 22 mangos.

4 © Copyright DeltaM ath

12. A bookstore sells 6 books for $75. Which table
represents the relationship between number of books and
the total price?

A B
Books | Cost Books | Cost
1 |$12.50 1 |$12.50
2 |$13.50 11 |$22.50
3 |$14.50 21 |$32.50
C D
Books | Cost Books| Cost
6 $75 6 $75
12 $81 7 1$87.50
18 $87 8 $100

13. Yasmin earns $45.75 for 3 hours of work. If she makes
a constant hourly wage, which table represents the
relationship between the number of hours she works and
her total earnings?

A B
Time Time
(hours) Pay (hours) Pay
1 $15.25 3 $45.75
2 $16.25 6 $48.75
3 $17.25 9 $51.75
C D
Time Time
Pa
(hours) Pay (hours) ¥
3 $45.75 1 $15.25
4 $61 11 $25.25
5 $76.25 21 | $35.25
ANSWER KEY



Ratios

14. The ratio of students to adults on a field trip is 70 to 7.

Which table correctly represents this ratio?

A
Students | Adults
10 1
11 2
12 3
C
Students | Adults
70 7
80 8
90 9

15. A recipe uses 4 cups of milk to make 24
servings. If the same amount of milk is used
for each serving, how many servings can be

B
Students | Adults
70 7
7 14
84 21
D
Students | Adults
10 1
20 11
30 21

made from three quarts?

16. Arianys drives 5 miles in 10 minutes. If she
drove two hours in total at the same rate, how

far did she go?
(a) 2 hours = 120 minutes

(b) Arianys would drive 60 miles in two hours.

17. Alexandra bought two pounds of
strawberries for $12.80. What is the price, in

(a) three quarts = 12 cups

(b) 72 servings can be made from three

quarts.

dollars per ounce of strawberries?

(@) 2 pounds = 32 ounces
(b) The price of strawberries is $0.40 per

ANSWER KEY

ounce.
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Ratios

18. A grocery store sells a bag of 3 oranges for $§1.92. How
much would it cost for 8 oranges?

$5.12

19. It cost Eva $29.85 to send 199 text messages. How
much would it cost to send 179 text messages?

$26.85

20. Olivia drove 105 miles in 3 hours. If she continued at
the same rate, how long would it take to travel 560 miles?

16 hours
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Rational Number Conversions

1. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as

a mixed number.

Fraction: —
8

Mixed Number: 12

2. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as

a mixed number.

Fraction: -0
raction: 10

6
Mixed Number: 2—
ixed Number 0

3. Assume that each circle shown below represents one
unit. Express the shaded amount as a single fraction and as

a mixed number.

Fraction: —
raction 15

Mixed Number: 2%

4. Simplify: 735
4
11
5. Simplify: o
16
55
6. Simplify: 12
1
4
7. Simplify: 23
ﬁ
44
8. Simplify: 35
9
10

9. Round 8.11 to the nearest tenth.

8.1

10. Round 2.1486 to the nearest hundredth.

2.15

11. Round 3.29 to the nearest whole number.

ANSWER KEY © Copyright DeltaM ath



Rational Number Conversions

12. Round 64899.4100117 to the nearest ten.

13. Round 531.775197122 to the nearest ten-thousandth.

14. Round 231469.335329 to the nearest thousand.

64900

531.7752

231000

15. Convert 4% into an improper fraction.

17. Convert 2% into an improper fraction.

1

w |~
W=
W=

21/3

Wi~

18. Convert %5 into a mixed number.

5

(=21 [

19. Convert 7% into an improper fraction.

1

it

1

w =

W=
W~

29
4

16. Convert %1 into a mixed number.

20. Convert 6% into an improper fraction.

34
5

1

3

W=
W |

X
3

W=
W=

W=

W=

w =
=

21. Convert % into a mixed number.

1

Sle

© Copyright DeltaM ath
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Rational Number Conversions

22. Convert 6% into an improper fraction.

23. Convert =5

11
24. Convert e

19
25. Convert 50

13
26. Convert 30

11
27. Convert 0

ANSWER KEY

99
8

into a decimal.

Final answer: 0.18

into a decimal.

0.916

into a decimal.

Final answer: 0.38

into a decimal.

Final answer: 0.65

into a decimal.

Final answer: 0.22

© Copyright DeltaM ath

28. Convert 0.637 to a fraction in simplest form.

637
1000

29. Convert 0.934 to a fraction in simplest form.

467
500

30. Convert 0.263 to a fraction in simplest form.

263
1000

31. Convert 0.676 to a fraction in simplest form.

169
250

32. Convert 0.255 to a fraction in simplest form.

51
200




Rational Number Conversions
33. Convert .28 to a fraction in simplest form.

— 28
28 = —
99

34. Convert .27 to a fraction in simplest form.

= 9
27 = —
18

35. Convert .5 to a fraction in simplest form.

_ 5
=2
9

36. Convert .47 to a fraction in simplest form.

= 43
A7 = —
90

37. Convert .03 to a fraction in simplest form.

— 1
03 =
33
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Rational Number Operations

1. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

3.7
4 32

31
32

2. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

o1
17 17
10

17

3. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

11 8
T3
97
24

4. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

7 11
16 20

9
80

ANSWER KEY

5. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

1 7
1010
4
5

6. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

LA
10 6

7. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

8. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

it (-1

5

17
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Rational Number Operations

9. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

1 4

6 9

10. Evaluate the expression shown below and write your

answer as a fraction in simplest form.

5 9
1 (1)
53
132

11. Perform the operation below. Express your answer as a

mixed number in simplest form.

3 T
415 — 235

47
150

12. Perform the operation below. Express your answer as a
mixed number in simplest form.

5 3
48 413

9
645

2 © Copyright DeltaM ath

13. Perform the operation below. Express your answer as a
mixed number in simplest form.

3.5 + 22

5

o=

14. Perform the operation below. Express your answer as a

mixed number in simplest form.

1 2
4l 412

15. Perform the operation below. Express your answer as a
mixed number in simplest form.

31443

z

16. Perform the operation below. Express your answer as a

mixed number in simplest form.

33— (- 1%)

2
5%

ANSWER KEY



Rational Number Operations

17. Perform the operation below. Express your answer as a
mixed number in simplest form.

32 — 12

15

18. Perform the operation below. Express your answer as a
mixed number in simplest form.

i (-1)

3
—38

19. Perform the operation below. Express your answer as a
mixed number in simplest form.

~32 + 23

7
_12_0

20. Perform the operation below. Express your answer as a

mixed number in simplest form.

-3} -1§

_5%1

ANSWER KEY

21. Perform the operation and simplify the answer fully.

L
8 4

3
32
3/32

22. Perform the operation and simplify the answer fully.

.8
7°3

10
7
10/7

23. Perform the operation and simplify the answer fully.

~. U] ©| avriw

9/5

24. Perform the operation and simplify the answer fully.

5‘ ©| el

9/10
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Rational Number Operations

25. Perform the operation and simplify the answer fully.
1 7
4 2

0 NN |

7/8

26. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

z.2
25

27. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

([,

oolc'.n‘ |
]

N 00 3| 0o

28. Perform the operation and reduce the answer fully.

Make sure to express your answer as a simplified fraction.

L
8 7

?
1
2
1

29. Enter the missing values in the area model to find:

6-9 % Express your final answer as a mixed number or a
whole number.

9 4/5

6| 54 24/5
4 4

- 9- =58

6 95 =

30. Enter the missing values in the area model to find:
20% = 4. Express your final answer as a mixed number

or a whole number.

5 1/8

4 20 1/2
1 1

20- -4 =5-=

2 8

31. Enter the missing values in the area model to find:
48% —+ 6. Express your final answer as a mixed number
or a whole number.

8 1/24

6 48 1/4
| 1

48— -6 =8—

4 b 24
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Rational Number Operations

32. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

33. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

—1% ¥ 3%

_5%

34. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

35. Evaluate the expression shown below and write your
answer as a fraction in simplest form.

37
79
-35 5.7 -5 5

63 9-7 9 9

ANSWER KEY

36. Evaluate the expression shown below and write your
answer as a mixed number in simplest form.

9
58 « =
T

19

37. Perform the operation and simplify the answer fully.

9,4 1
s T 13

38. Perform the operation and simplify the answer fully.

| |~1|u=

=J| 00| mol=
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Rational Number Operations

39. Perform the operation and simplify the answer fully.
1

2
L
T 10

(=[]

15

28

40. Perform the operation and simplify the answer fully.

41. Perform the operation and simplify the answer fully.
10
7
9

10

63

© Copyright DeltaM ath
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Unit Rates/ Reasoning

1. It cost Josiah $0.27 to send 3 text messages. How
much does each text cost to send?

Each text costs $0.09 to send.

2. A grocery store sells a bag of 6 oranges for $2.58.
What is the cost of oranges, in dollars per orange? On the
double number line below, fill in the given values, then use
multiplication or division to find the missing value.

/ <6

dollars

0 0.43 2.58
' —>
h . »
T T .l

o 1 6

oranges
+6

The cost of oranges is $0.43 per orange.

3. Jace earned $81.00 at his job when he worked for 5
hours. What did he earn in one hour?

He earned $16.20 in one hour.

ANSWER KEY

4. A grocery store sells a bag of 3 oranges for $1.17.
What is the unit cost? On the double number line below,
fill in the given values, then use multiplication or division

to find the missing value.

f 3

dollars
0 0.39 1.17
% —>
|
; -
T T >
0 1 3
oranges

The unit cost is $0.39.

5. Genesis read 9 books in 3 months. If she reads at a
constant rate, how many books did she read each month?
Give your answer as a whole number or a FRACTION in
simplest form. On the double number line below, fill in the
given values, then use multiplication or division to find the

missing value.

0 3 9
% —>
| |
H ; >
T T >
0 1 3
months

She read 3 books each month.

6. Ellie drove 270 miles in 6 hours. On average, how fast

did she drive, in miles per hour?

She drove at 45 miles per hour, on average.

© Copyright DeltaM ath



Unit Rates/ Reasoning

7. Isaiah earned $237.00 at his job when he worked for
10 hours. How much money did he earn each hour?

He earned $23.70 each hour.

8. Jose earned $488.00 at his job when he worked for 20
hours. How much money did he earn each hour?

He earned $24.40 each hour.

9. On average, Avani drinks % of a 10-ounce glass of
water in 15 minutes. How many glasses of water does she
drink in one hour? On the double number line below, fill in
the given values, then use multiplication or division to find
the missing value.

To enter a mixed number on the double number line, use a space and the
slash key. For example: 3 1/2

Enter your final answer as a whole number, proper

fraction, or mixed number in simplest form.

x 4
glasses / \

0 2/7 11/7

\ 4

A 4

o 15 60

minutes
\ x 4

She drinks 1% glasses in one hour.

2 © Copyright DeltaM ath

; ; 3 4 1
10. A recipe requires 2;1 cups of milk for every 7 of a cup
of flour. How many cups of milk are required for each cup
of flour? On the double number line below, fill in the given
values, then use multiplication or division to find the
missing value.
To enter a mixed number on the double number line, use a space and the
slash key. For example: 3 1/2
Enter your final answer as a whole number, proper

fraction, or mixed number in simplest form.

- a N\
cups of milk

0 2 3/4 11

A 4

A

o] 1/4 1

cups of flour
K x4

11 cups of milk are required for each cup of flour.

11. Amira conducted a scientific experiment. For a certain
time, the temperature of a compound rose 3%1 degrees in %
of an hour. What was the rate, in degrees per hour, that the
temperature of the compound rose? On the double number
line below, fill in the given values, then use multiplication
or division to find the missing value.

To enter a mixed number on the double number line, use a space and the
slash key. For example: 3 1/2

Enter your final answer as a whole number, proper
fraction, or mixed number in simplest form.

/ x5 \
degrees

° 34/5 19 o

0 1/5 1

hours

\ x5 J
The temperature of the compound rose 19 degrees per
hour.
ANSWER KEY



Unit Rates/ Reasoning

12. Jayden drove 21 miles in % hours. On average, how
fast did he drive, in miles per hour?

/ x5 \
miles — 3
(0] 4 21 35
) 1/5 3/5 1
hours ~— +3 -

K x5 /

He drove at 35 miles per hour, on average.

13. Julian observes a marble travel along a horizontal path
at a constant rate. The marble travels % of the length of the
path in 30 seconds. At that rate, how many seconds does it
take the object to travel the full length?

x5
seconds //—2\

0 15 30

0 1/:5 2}5

75
1
full lengths \\_—_2/ /
X5

It takes 75 seconds to travel the full length.

ANSWER KEY

14. The label on a 2 % -pound bag of seeds states that it will
cover an area of 455 square feet. What is the area that one

pound of seeds will cover?

+7 \
square feet //’x_g\

0 65 195 455

|
|

0 1/3 1 7/3

pounds %/
=7 /

One pound of seeds will cover 195 square feet.

15. Meena was driving down a road and after 4 hours she
had traveled 98 miles. At this speed, how many miles
could Meena travel in 10 hours? Fill out the table of
equivalent ratios until you have found the value of x.

Miles | Hours
98 4
49 2

245 10

After driving for 10 hours, Meena traveled 245 miles.
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Unit Rates/ Reasoning

16. For a given recipe, 2 cups of flour are mixed with 14
cups of sugar. How many cups of sugar should be used if
22 cups of flour are used? Assuming a constant ratio, fill
out the table of equivalent ratios until you have found the

value of x.

Flour | Sugar

2 14
22 154

154 cups of sugar should be mixed with 22 cups of flour.

17. At a local print shop, 10 copies can be made for $4. At
this rate, how many copies could be made for $36? Fill out
the table of equivalent ratios until you have found the

value of x.

Copies | Dollars
10 4
90 36

It would cost $36 to make 90 copies.

18. 10 customers entered a store over the course of 6

minutes. Fill out a table of equivalent ratios and plot the

points on the coordinate axes provided.

4 © Copyright DeltaM ath

Customers | Minutes
5 —
10 6
B 15
Customers | Minutes
5 3
10 6
25 15
A
20
18 5
16 ]
,.’
14 1
12
10
. iiiiﬁ/,?’iiiiiiiiiiil
| I
4 e e T e
92 T A I o
S N 2 A A
» X
[¢) 5 10 15 20 25 30 35 40
ANSWER KEY



Unit Rates/ Reasoning

19. Feng mowed 6 lawns in 9 hours. Fill out a table of 20. Connor's car used 7 gallons of gas to drive 210 miles.
equivalent ratios and plot the points on the coordinate axes Fill out a table of equivalent ratios and plot the points on
provided. the coordinate axes provided.
Lawns | Hours Miles | Gallons
2 o o 1
6 9 180 o
L 18 210 7
Lawns | Hours Miles | Gallons
2 3 30 1
6 9 180 6
12 18 210 7
A A
20 % 20
18 ," 18
JSEEannnnnn pAREREEE ) SSEssEEEEEEnEE. 1
14 ,"' 14 }
12 /" 12 g -f
10 ,':I 10 or B
T (S S S Y |
8 Tt 23 N A A N N I A | S S, A R .
|- - I/. | S L [ N S S A T T s ] S I () I |
6 T S R e e S 6 I I N .,’.’ ...........
4 1 'I.l ................ 4 1 1 1 .,’ » ,./ ............
g B e B e e o TR B i e e e e T H e e S|
2 02 TN N S N N S S S S S S S S (N A - 2 .,’f’ .................
o 2 4 6 8 10 12 14 16 18 2o:x o 50 100 150 200 250 300 350 400:x
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Proportional Relationships

1. The table below shows Ayden's earnings on the job.

Time (hours) | Earnings (dollars)
11 $377.30
23 $788.90
35 $1200.50

What is the constant of proportionality between
earnings and time in hours?

k=343

2. Ariana buys 10 bottles of grapeftuit juice at the corner
store for a total cost of $11.80. If each bottle costs the same

amount, how much is each bottle of juice?

$1.18 per bottle of juice

3. A company orders 15 boxed lunches from a deli for
$128.25. If each boxed lunch costs the same amount, what
is the unit cost of each boxed lunch?

$8.55

ANSWER KEY

© Copyright DeltaM ath

4. The length of a cell phone is 1.6 inches and the width
is 3.6 inches. The company making the cell phone wants
to make a new version whose length will be 1.2 inches.
Assuming the side lengths in the new phone are
proportional to the old phone, what will be the width of the

new phone?

The width of the new phone will be 2.7 inches.

5 A 7%-inch candle burns down in 10 hours. After how
many hours will it have burned 6% inches?

It will have burned 6% inches after 8% hours or .

6. At the neighborhood grocery, 2.5 pounds of salmon
cost $21.35. Dianelys spent $12.81 on salmon. How
many pounds of salmon did she buy, to the nearest
hundredth of a pound?

He spent $12.81 on 1.5 pounds of salmon.




Proportional Relationships

7. The table below shows Makayla's earnings on the job.

Time (hours) | Earnings (dollars)
15 $387
21 $541.80
27 $696.60

How much does she make in 13.5 hours?

In 13.5 hours, she makes $348.30.

8. The table below lists the masses and volumes of
several pieces of the same type of metal. There is a
proportional relationship between the mass and the volume
of the pieces of metal.

(cubicvc(;lnutlinn?eters) Mass (grams)
5:1 23.052
9.7 43.844
11.7 52.884

Determine the volume, in cubic centimeters, of a piece of
metal that has a mass of 62.828 grams. Round your
answer to the nearest tenth.

A piece with mass 62.828 grams has volume 13.9 cm?®.

2 © Copyright DeltaM ath

9. Julian was comparing the price of ground beef at two
stores. The equation y = 7.38 represents the total cost,
in dollars and cents, ¥, that it costs for  pounds of ground
beef at SuperGrocery A. The table below represents the
total cost, in dollars and cents, ¥, that it costs for  pounds

of ground beef at SuperGrocery B.

SuperGrocery B
Pounds (z) | Total Cost (y)
2 $18.72
2.5 $23.40
3.5 $32.76
4.5 $42.12

How much more expensive is it, per pound, to buy
ground beef at Store B than at Store A?

It is $1.98 per pound more expensive to buy ground beef
at SuperGrocery B than at SuperGrocery A.

ANSWER KEY



Proportional Relationships

10. Two friends, Nicole and Xochitl, took summer jobs.
Nicole earned $424.80 in 18 hours. The graph below
represents Xochitl's earnings in dollars and cents, Yy, for
working & hours.

y

A Xochitl's Earnings
$600
$550
$500
$450
= $400
—~
= $350
8 (20,$350)
Nt
- $300
)
g
= $250
-
3+
&3 $200
$150 (10,$175)
$100
$50
] 5 10 15 20 25 30 35 40 45 50 55 60"
Hours Worked

How much more does Nicole earn per hour than
Xochitl?

> x

Nicole earns $6.10 more per hour than Xochitl.

ANSWER KEY © Copyright DeltaM ath

11. Scientists are preparing two satellites to be launched.
The equation y = 3000 represents the number of miles,
Y, that the satellite, Space Explorer A, flies in & hours. The
table below represents the number of miles, Y, that the

satellite, Space Explorer B, flies in & hours.

Space Explorer B
Hours (x) | Miles (y)
10 22000
19 41800
21 46200
25 55000

How much faster does Space Explorer A travel per hour
than Space Explorer B?

Space Explorer A travels 800 miles per hour faster than
Space Explorer B.

12. Given the speeds of each runner below, determine who
runs the fastest.

Emily runs 12 feet per second.
Will runs 510 feet in 46 seconds.
Stephanie runs 1 mile in 404 seconds.

Ron runs 874 feet in 1 minute.

A. Emily B. Will

C. Stephanie D. Ron




Proportional Relationships

13. Given the speeds of each runner below, determine who
runs the fastest.

Noah runs 11 feet per second.
Jessica runs 625 feet in 42 seconds.
Zach runs 1 mile in 424 seconds.

Jake runs 644 feet in 1 minute.

A. Noah B. Jessica

C. Zach D. Jake

14. Given the speeds of each runner below, determine who
runs the fastest.

Frank runs 11 feet per second.
Emily runs 86 feet in 10 seconds.
Adam runs 1 mile in 388 seconds.

Noah runs 600 feet in 1 minute.

A. Frank B. Emily

C. Adam D. Noah

4 © Copyright DeltaM ath

15. Given the speeds of each runner below, determine who
runs the fastest.

Stephanie runs 9 feet per second.
Ron runs 255 feet in 22 seconds.
Liz runs 1 mile in 362 seconds.

Emily runs 605 feet in 1 minute.

A. Stephanie  B. Ron

C. Liz D. Emily

16. Given the speeds of each runner below, determine who
runs the fastest.

Stephanie runs 8 feet per second.
Zach runs 485 feet in 47 seconds.
Liz runs 1 mile in 540 seconds.

Adam runs 676 feet in 1 minute.

A. Stephanie  B. Zach

C. Liz D. Adam

ANSWER KEY



Proportional Relationships

17. Scarlett practices the piano the same number of
minutes each day. The relationship between the number of
days, x, and the total number of minutes she practices, Y,

is represented by a graph drawn in the xy-plane.

If the point (2, 50) lies on the graph, what does the
ordered pair (2, 50) indicate?

A. Scarlett practices 50 minutes a day for 2 days

B. Scarlett practices a total of 50 minutes over 2 days

C. Scarlett practices a total of 2 minutes over 50 days

D. Scarlett practices 2 minutes a day for 50 days

18. Nayeli has just gotten a new job. The relationship

between the number of hours she works, &, and her total

earnings, Y, is represented by the graph below.

What does the ordered pair (2, 45) indicate?

y
A
375
350
325
300
275
250
225
200

175
150

125

Total Earning (in dollars)

100

75

50

25

o 1 2 3 4 5 6 7 8 9 10

Number of Hours

A. Nayeli earns $45.00 per hour for 2 hours

B. Nayeli earns a total of $2.00 over 45 hours

12

C. Nayeli carns a total of $45.00 over 2 hours

D. Nayeli earns $2.00 per hour for 45 hours

ANSWER KEY © Copyright DeltaM ath



Proportional Relationships

19. A grocery store sells sliced turkey by weight. The
relationship between the amount of turkey in pounds, &,
and the total cost in dollars of the sliced turkey, y, is
represented by the graph below.

What point on the graph represents the unit rate?

A

108
102
96
90
84
78
72
66
60
54
48
42
36
30
24
18

Total Cost (in dollars)

12

»x

(o] 1 2 3 4 5 6 7 8 9 10 11 12

Number of Pounds

A. (0,0) |B. (1,6)

C. (6,1) D. (6,36)

20. A certain shade of purple paint is made by mixing blue
and red paint. The relationship between the number of
quarts of blue paint in the mix, &, and the number of quarts

of red paint, ¥, is represented by the graph below.

What is the constant of proportionality as shown in the

graph?
y
A
1
0.9
—_ 0.8
w
5
& 7
=
—~ 0.6
=
|
(33
8 o5
o
[«5]
—
B 04
=
8 0.3
5 0.2
0.1
o
o 0.2 0.4 0.6 0.8 1'x
Amount of blue paint (in quarts)
1 5 5 e
A.l |B. B c. 5 DL
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Proportional Relationships

21. Isaac is making lemonade from concentrate. The 22. Line NM represents a proportional relationship. Point
relationship between the number of quarts of concentrate, N lies at (14, 12) as shown on the graph below.
&, and the number of quarts of water, Y, is represented by

Which ordered pair could represent the coordinates of
the graph below.

point M ?
What is the constant of proportionality as shown in the
A
graph? 18
A 16
30
27 2
o | 12 1 QN
)
E 21 | 10
&
é 18 1 8
1]
2 s
6
z
C 12
= 4
=]
E 9
2
6
o (6] 2 4 6 8 10 12 14 16 18 20>x
0] 3 6 9 12 15 18 21 24 27 30>x
Amount of Concentrate (in quarts) A (17.5 ) 15) B. (0.9 ; 0)
1 8 3 8 C. (15, 17.5) D. (2,0)
A.- § B. § C. ﬁ D. ﬁ ’ ?
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Proportional Relationships

23. Find the equation that represents the proportional 25. Find the equation that represents the proportional
relationship in this graph, for ¢ in terms of . relationship in this graph, for ¥ in terms of .
A A
10 30
27
8 24
21 /
6 18 //
15
4 12 =
/
L] , e
/ I
2 6 / /
L y
L~ ’ d
o 1 2 3 4 5 6 7 8 9 10 P o] 3 6 9 12 15 18 21 24 27 30> x
2 5
y=3* y=g#
24. Find the equation that represents the proportional 26. Find the equation that represents the proportional
relationship in this graph, for ¥ in terms of . relationship in this graph, for ¢ in terms of .
A A
0.9 9 /
/
0.8 8 /
0.7 7
0.6 6
/
0.5 5 //
0.4 4
0.3 / 3 /
" / f
" = 1/
/
o 0.2 0.4 0.6 0.8 1 P o 2 4 6 8 10‘x
2 7
Y= Y= 5"

8 © Copyright DeltaM ath ANSWER KEY



Proportional Relationships

27. Find the equation that represents the proportional 29. The proportional relationship between the number of

relationship in this graph, for ¢ in terms of . sweaters a clothing store buys and sells, s, and the profit, in
¥ dollars and cents, that it makes off those sweaters, can be

5 represented by the equation p = 218. What is the profit in

27

dollars and cents that the store makes per sweater?
24

$21 per sweater

21

30. The table below shows a proportional relationship

between g and h.
28. The table below shows that the number of miles driven g h
by Lillian is directly proportional to the number of gallons
she used. 96 12
Gallons Used | Miles Driven 144 | 18
29 539.4 160 | 20
47 874.2 Write a proportional equation for / in terms of g. Use a
whole number or fraction, not a decimal, in your equation.
50 930
1
If m represents the number of miles driven for any number h = gg

of gallons used, g, write a proportional equation for m in
terms of g that matches the context.

m = 18.6g

ANSWER KEY © Copyright DeltaM ath 9



Using Percent

1. Caimisses 2% of the free throws he attempts in a
season. How many total free throws did he attempt if he
missed 46?

x50 \
46 2300

éttempts

\ 4

percent

2

100
\ X50 /v

Cai attempted 2300 total free throws.

A 4

2. Taub made 25% of her free throws over the season. If
she shot 180 free throws, how many did she make?

attempts ﬁ i \
45 180
: —>
H 3
T >
25 100
percent V¥
4 J

Taub made 45 free throws.

3. All students in Ridgewood Junior High School either
get their lunch in the school cafeteria or brought it from
home on Tuesday. 5% of students brought their lunch. 49
students brought their lunch. How many students in total
are in Ridgewood Junior High School?

/ x20 \

49 980
students i -
percent ! -

T Ll »~
5 100

K x20 /v

There are 980 total students.

ANSWER KEY

4. There are 160 students in the seventh grade, and 25%
are in the Environmental Club. How many students are in
the Environmental Club? On the double number line
below, fill in the values given in the problem then scale up
or down to find the missing value.

4 \

students /7
40 160
5 —>
I A
T >
25 100
percent \
4 J

40 students are in the Environmental Club.

5. Bob's gift shop sold a record number of cards for
Mother's Day. One salesman sold 50 cards, which was 25%
of the cards sold for Mother's Day. How many cards were
sold for Mother's Day? On the double number line below,
fill in the values given in the problem then scale up or
down to find the missing value.

cards f =4 \
50 200

10

J

\ 4

A

2'5 50

ercent
¥ ¥ X4

200 total cards were sold for Mother’s Day.

6. Nolan misses 5% of the free throws he attempts in a
season. How many total free throws did he attempt if he
missed 42? On the double number line below, fill in the
values given in the problem then scale up or down to find

the missing value.

/—_ x20 \

42 840
atfempts : -
percent | -~

L ' »
5 100

\ X20 /v

Nolan attempted 840 total free throws.
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Using Percent

7. At a football stadium, 20% of the fans in attendance
were teenagers. If there were 20 teenagers at the football
stadium, what was the total number of people at the

stadium?

100

8. 400 students attend Ridgewood Junior High School.
4% of students bring their lunch to school everyday. How
many students brought their lunch to school on Thursday?

16

9. All students in Ridgewood Junior High School either
got their lunch in the school cafeteria or brought it from
home on Tuesday. 25% of students brought their lunch. 37
students brought their lunch. How many students in total
are in Ridgewood Junior High School?

148

10. What is 15% of 6607

99

2 © Copyright DeltaM ath

11. 504 is what percent of 6007

84%

12. 429 is what percent of 6507

66%

13. 71.2 is what percent of 1287 Round to the nearest
hundredth.

55.63%

14. Find 112.1% of 186. Round to the nearest tenth.

208.5

15. Find 129.9% of 414. Round to the nearest hundredth.

537.79

ANSWER KEY



Using Percent

16. A bakery sold a total of 60 cupcakes in a day, and 55%
of them were mocha flavored. How many of the cupcakes
sold that day were mocha flavored?

33

17. At a baseball game, 39% of people attending were
supporting the home team, while 61% were supporting the
visiting team. If 1053 people attending the game supported
the home team, what was the total number of people

attending the game?

2700

18. Jordan has a mask collection of 360 masks. He keeps
162 of the masks on his wall. What percentage of Jordan's
mask collection does he keep on his wall?

45

19. Josue has a loyalty card good for a 18% discount at his
local pharmacy. What number should he multiply the
prices on the tags by to find the price he would have to

pay, before tax, in one step?

0.82

ANSWER KEY

20. Skylar went shopping for a new phone. Sales tax where
she lives is 10%. What number should she multiply the
price of the phone by to find the total plus tax in one step?

1.1

21. Gabriella invests money in an account paying a simple
interest of 3% per year. If no money will be added or
removed from the investment, what should she multiply
her current balance by to find her total balance in a year in

one step?

1.03

22. Arianys has a loyalty card good for a discount at her
local grocery store. To find the total she has to pay, before
tax, she multiplies the prices by 0.93. What percent

discount does the card give?

%

23. The population of a city decreases by 1.9% per year.
What should we multiply the current population by to find
next year's population in one step?

0.981
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Using Percent

24. The population of a city increases by 1.4% per year.
What should we multiply the current population by to find
the next year's population in one step?

1.014

25. Tyler has a loyalty card good for a discount at his local
pharmacy. The item he wants to buy is priced at $8, before
discount and tax. After the discount, and before tax, the
price is $6.88. Find the percent discount.

14%

26. One year, the population of a city was 92,000. Several
years later it was 105,800. Find the percent increase.

15%

27. Xavier went shopping for a new camera. The listed
price of the camera was $38, but the price with tax came to
$39.14. Find the percent sales tax.

3%
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Signed Numbers

1. Point B is located at 12. Plot Point B on the number 4. Point T is located at —18. Point U is 4 greater than
line below. point T. (a) Plot point U on the number line below.
(b) State where U is located.
< 1 1 | 1 1 B h - 4 unlts
Tledido9 8 7 65432101 2345678010012 L0
4o 25 20 a5 0 5 o 5 10
2. Point Y is located at 8. Plot Point Y on the number line
U=-14
below.
A
12 4
bl |
]
seY
]
6
51
2]
M
s
Al
ol
-2 5. Point M is located at —8. Points N and O are each 6
el
41 units away from point M. (a) Plot point N and point O on
A
61 the number line below. (b) State where N and O are
el
-8 located.
o
ol
11 10
o]
4
5
N
. ) . 5 6 units
3. Point K is located at —9. Plot Point K on the number 1
line below. o 6 units
12{\ -15 O
bl |
91 -20
8
]
6 -25
e
4
3 -30
2
1
o1 N=-2 0O=-14
el
el
M
A
-6
e
-84
9¢ K
Jol
11
12;’
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Signed Numbers

6. Point S is located at —1. Point T is 3 greater than

point S. (a) Plot point T on the number line below. (b) State

where T is located.

101

10+
-154

o0+

7. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

445
TR T I IR I T i
—o—>
4+5=9

8. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

2 © Copyright DeltaM ath

9. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

10. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

—8—2
i A -
]ﬂ@-87-65-4ﬂ-240 1.2 3 45 6 7 9 10
< (3) ®
« & L d
«o-
-8 —2=-10

11. Find the result graphically. Start from 0 and draw a
series of jumps in a positive or negative direction to find

the final answer.

—-3+8
—10987-654-3—2—101234678910
«(Q—e
(3. N
/g »

ANSWER KEY



Signed Numbers

12. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final

answer.
—74+54+3
‘—10987654-32102345678910
—O—>
—OH—>»

Possible alternate order: D + 3 — 7

I usciidiiisiiiom

«—0——

A

Possible alternate order: 3 — 7+ 5

<

€T TT717 T
-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 O 2 3 4 5 6 7 8 9 10
05—)

>l £k
< )

_@_>

Y

What final answer do all of these three diagrams give?

13. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final

answer.
7T—6—2
10987654-3—2012345678910
—H—>
«—O—
<«

A
A\

Possible alternate order: —2 + 7 — 6

-10 -9 -8 -7 -6 -5 -4 -3 —2 01 2 3 4 5 6 7 8 9 10
4!—0

D, >

«—o——

Y

What final answer do all of these three diagrams give?
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Signed Numbers

14. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final

answer.
—4-2+8
‘—109 765—4-3—2—101345678910
<«—(—e
«o—
(D) >
& ol

Possible alternate order: —2 + 8 — 4

« T T T T T T T T T T T

-10-9—8-7-6-5-4-3-2-I10 15,;;%678910

A

L
p4 L

Possible alternate ovder: 8 — 4 — 2

<

e W T T T T T T T T T
-10 -9 -8 -7 -6 -5 -4 -3 -2 -1

Y

1[2] 3

56 7 8 9 10
« »
& >

4
(D)

@ O

What final answer do all of these three diagrams give?
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15. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final

answer.
3+6—2
109-87654-32—10123456 9 10
—E—>
<G—
Possible alternate order: 6 — 2 + 3
-1098765-4-3-2-10123456 9 10
—H—>
<>
—EH>

Possible alternate order: —2 + 3 + 6

<

A -
PR T R S R

—E>
——>

What final answer do all of these three diagrams give?

ANSWER KEY



Signed Numbers

16. Find the result graphically in three different ways,
using the commutative property of addition (that is, mix up
the order of the numbers). Start from 0 and draw a series of
jumps in a positive or negative direction to find the final

answer.

6+3—2

<&

h -
7R P R R W TR

—o—>
<o

Possible alternate order: 3 — 2 + 6

<

A
<
P T S e

<o
—o—>

Possible alternate ovder: —2 + 6 + 3

<

A
‘—10-9»8-7-6—5—4—3—2-16 iéé&ééééfa'

—O—>
—O—>

What final answer do all of these three diagrams give?

17. Write the numbers below in order from least to

greatest. Use commas to separate.

19| -2||—20||—6||—15||—14

—20, —15, —14, -6, —2, 19

18. Write the numbers below in order from least to
greatest. Use commas to separate.

—16|[-18][17|[-9 [] 12

—-18, —16, —12, -9, 6, 17

19. Write the numbers below in order from least to
greatest. Use commas to separate.

—19 —3||11||—18

—-19, —-18, -3, 3, 7, 11

20. Write the numbers below in order from least to
greatest. Use commas to separate.

—5.6||—16(|—11.2||13.1||—-15.6||—5.2

—-16, —15.6, —11.2, —5.6, —5.2, 13.1

21. Write the numbers below in order from least to
greatest. Use commas to separate.

—4.711-0.8||—0.4|[4.8| |—12.8| | —19.4

—19.4, —12.8, —4.7, —0.8, —0.4, 4.8

22. Write the numbers below in order from least to
greatest. Use commas to separate.

—5.41144||-7.8]|—-15.2||—-14.8||-3.5

—15.2, —-14.8, —7.8, —5.4, —3.5, 44

23. Write the numbers below in order from least to

greatest. Use commas to separate.

0.65||—1.96||—1.47||-1.2||—-1.71| |0.68

—-1.96, —1.71, —1.47, —1.2, 0.65, 0.68

ANSWER KEY © Copyright DeltaM ath



Signed Numbers

24. Write the numbers below in order from least to
greatest. Use commas to separate.

—0.63|]1.55||0.9||—-0.19||-0.01| | —-0.66

—0.66, —0.63, —0.19, —0.01, 0.9, 1.55

25. Write the numbers below in order from least to
greatest. Use commas to separate.

1.57|-1.9(|0.87||—1.93| | —1.15| [1.11

30. Which expression is equivalent to —3 — 67?

A, —6+3 B. 6 —(—3)

C. —6—(-3) |D. —3+4(—6)

31. Which expression is equivalent to

~3.2 +(—80.3)?

A. —80.3—(-32) B. 32— (—80.3)

C. —80.3—-3.2

D. 80.3+ (—3.2)

-1.93, —-1.9, —1.15, 0.87, 1.11, 1.57

26. Which expression is equivalent to —38.3 — 95.2?
A. —95.2— (-38.3)

. 95.2 — (—38.3)

B
C. —38.3—(-95.2)
D

—38.3+ (—95.2)

27. Which expression has the same value as 10% + 7%‘?

A. 101 — (-7%) B. 7%+ (—103})

C. 10 — 72 D. —72-102

28. Which expression has the same value as —2x — 5y?

A. —2z+ (—by) B. 2z + (—by)

C. by — (—2z) D. — 5y — (—2x)

29. Which expression is equivalent to —5 + (—7)‘?

A 7-(=5) B. —7—(-5)

C. —7+5 D. -5-T7

6 © Copyright DeltaM ath

32. Which expression is equivalent to —8 — 10?

A, —10+8 B. 8+ (-10)

C. —10+ (—8) D. —10— (-8)

33. Which expression is equivalent to —1 % — (-7 % )?

A 7414 B. —1; +7]
73 —(-1%) D. 11473

34. Which expression has the same value as 10 + (—4)?

A 10—-4 B.

— 4+ (-10)

C. 4—10 D. 10— (—4)

35. Which expression has the same value as

—6y + (—6x)?
A, —6x— (—6y) B. — 6z — 6y
C. —6y—(—6zx) D. —6y-+6x

ANSWER KEY



Algebraic Expressions

1. What is the value of the expression 5y — 7 when
y=29?

38

2. What is the value of the expression 822 — 10z — 6
when 2 = 3?

36

3. What is the value of the expression 5 — 4y when
r =8andy = 5?

20

4. Combine like terms.

By —5y° —5+2+2+3y° -1

Ty —2y* — 4

ANSWER KEY

5. Combine like terms.

52> +4+6y—1+3y—4z’—5

z? — 2+ 9y

6. Combine like terms.

6m3+5y3+4+y3+6+$3—3:ﬂ3

43 + 63 + 10

7. Which expression is equivalent to —6 + h — 9h?

A, —14h B. —5—-9h

C. —16h D. —8h—6

8. Which expression is equivalent to

—3a+1—9a —10?

A -21 B. —2la

C. —12a—-9 D. —2¢-19
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Algebraic Expressions

9. The width of a rectangle measures (6d + 9)
centimeters, and its length measures (5d - 8)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A 2+22d B. 15d -3

C. 30d — 6 D. 11d+1

10. Which expression is equivalent to 97 + r — 7r?

A. 9r B.1+8r

C. —11r D.r+8

11. The width of a rectangle measures ( 6m + 2n)
centimeters, and its length measures (9m — 9n)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A 30m+2—-18n B. 30m— 14

C. 30m — 14n D. 15m -7

2 © Copyright DeltaM ath

12. A triangle has side lengths of (3.1s + 2.5t)
centimeters, (4.68 -+ 5.2u) centimeters, and
(8.4u — 8.9t) centimeters. Which expression represents

the perimeter, in centimeters, of the triangle?

A. 7.7s — 6.4t + 13.6u

B. 16.1su — 1.2tu
C. —0.5u+7.7s+ 7.7t

D. 5.6st + 9.8su — 0.5tu

13. The width of a rectangle measures (4.2m — 1.2n)
centimeters, and its length measures (8.4m - 5.5n)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A. 252m —11n —1.2 B. —13.4+4+252m
C. —13.4n+252m D. —6.7+12.6m
14. Which expression is equivalent to
0.32t 4+t — 0.53?
A. 0.79¢ B. 1.32t — 0.53
C. —1.21t D. 0.32t 4 0.47
ANSWER KEY



Algebraic Expressions

15. Which expression is equivalent to

0.83v +v — 0.69v?

A, 1.14v B. —0.52v

C. 1+0.14v D. v+0.14

16. Which expression is equivalent to

43w +4.2+ 29w — 1.7?

A 14w +25 B. 25+ 72w

C. 1.4w+5.9 D. 8.5w + 1.2

17. Write an equivalent expression by distributing the "—"

sign outside the parentheses:
—(—0.9m + 5n) — 2
0.9m — 5n — 2

18. Write an equivalent expression by distributing the "—"

sign outside the parentheses:
—(—Tw + 2.4z — 6)
Tw—2.4x + 6

19. Write an equivalent expression by distributing the "—"

sign outside the parentheses:
—(~8.72 — 9)
8.7z +9

20. Write an equivalent expression by distributing the "—"

sign outside the parentheses:
0.6f — (—2g + 1)
0.6f +2g—1

ANSWER KEY

21. Write an equivalent expression by distributing the "—

sign outside the parentheses:

—(—6p — 9.2 — 2.3)

6p + 9.2g + 2.3

22. Use the distributive property to write an equivalent

expression.

4(v + 2w)

4v + 8w

23. Use the distributive property to write an equivalent

expression.
5(6z + 3y — 6)
30z + 15y — 30

24. Use the distributive property to write an equivalent

expression.
7(6s — Tt + 4)
42s — 49t - 28

25. Use the distributive property to write an equivalent

expression.
8(8p + 10)
64p + 80

26. Use the distributive property to write an equivalent

expression.
3(s — 10t + 1)
3s — 30t + 3

27. Rewrite in simplest terms: 8(—6f — 8) + 5 f

—43f — 64

© Copyright DeltaM ath
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Algebraic Expressions

28. Rewrite in simplest terms: 32. Which expression is equivalent to the expression
—9(4n — 3) — 3(—n — 8) below?
—33n + 51 5(6v +6) — Tv

A. 37v+6  B. 5(6v+6—Tv)

C. 18v +11 D. 23v+ 30

29. Rewrite in simplest terms: —6a — 8(2a — 1) 33. Which expression is equivalent to the expression

below?
f+i+f+f+f+f+f+g+g+g

A. f7g B. 10fg

—22a + 8

C.{+¢ |D. 7f+3g

30. Rewrite in simplest terms:

—5(—7r —8r—3) —9r 34. Which expression is equivalent to the expression

667 + 15

below?

wtw+w+w+w

A. 5w B. 5 C. % D. wb

o 35. Which pair of expressions below are equivalent?
31. Rewrite in simplest terms:

—10(—10g + 3h) — 9h — 2(—10h — 10g) A. 67+ 3r and 9r°
1209 — 19h

. 6(3r —8) and 18r — 48

B
C. 6r —3sand 3s — 67
D

. 6(3r —8) and 18r — 8
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Algebraic Expressions

36. Which expression is equivalent to the expression
below?

6(7t) + 3t

A. 25¢ B. 42t + 7t?

C. 10t+6 D. 45t

ANSWER KEY © Copyright DeltaM ath



Solving Equations

1. Find the value of & in the equation below.

30 = 3=z
z =10

2. Find the value of & in the equation below.

17T=x+1
Tz =16

3. Find the value of @ in the equation below.

T=x-—9
rz =16

4. Find the value of T in the equation below.

6. Find the value of @ in the equation below.

z—15.3 =281
=234

ANSWER KEY

7. Find the value of Z in the equation below.

2r = 12.8
r=6.4

8. Find the value of Z in the equation below.

29— 2
=75

x = 14.5

9. Find the value of Z in the equation below.

13 =z +10.2
r = 2.8

10. Find the value of Z in the equation below.

z+1=5.5
xr—=4.5
11. Solve for a.
a—6=-9
a=-—3
12. Solve for c.
4 =¢+10
c=—6
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Solving Equations

13. Solve fory.

—2=-10+y
y —
14. Solve for t.
8+t=7
t=—1
15. Solve for n.
T=n-—2
n=29
16. Solve fory.
—60 = 12y
y=—5
17. Solve for s.
48 = 8s
s=26
18. Solve for t.
60 = 12t
t=5

24. Solve forr.

© Copyright DeltaM ath

19. Solve for n.

20. Solve for s.

21. Solve for n.

22. Solve for s.

23. Solve for s.

= —10n
n—=-3
—20 = 10s
§s=—2
g _ n
"
.= 24
8_5
T
s = 56
* — 5
-8
s =40
9_ r
-
r=—63

ANSWER KEY



Solving Equations

25. Solve for b.

26. Solve for 1 and simplify your answer.

—5n— 10
3" =

n—==~06

27. Solve for s and simplify your answer.

3 5
6 .

28. Solve for r and simplify your answer.

10:—§r
5
25

29. Solve for w and simplify your answer.

3
14
w=-73

ANSWER KEY

30. Solve for w and simplify your answer.

4 = -8
3"~
w= —6
31. Solve for c.
8 = —3c+ 29
c=17
32. Solve for b.
b
14— - =17
8
b=-24
33. Solve for a.
—56 = ba — 11
a=-—9
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Solving Equations

34. Solve for b. 38. Solve for a.
™h+2 =23 —3.64 = —-0.7T—-2.1a
b=3 a=1.4
35. Solve for b.
6b— 11 — —93 39. Solve for a.
0.4a + 0.4 = —0.92
b= -2
a=-3.3
36. Solve for a.
a
02 +0.7=17.2 40. Solve for z.
z
=-33 —~10.35 = —2.6 + —
a 10.35 4 04
z=-—3.1
37. Solve for b.
1.5 — 0.8b = —1.38 41. Solve for z.
1
— 1+-2=26
b=3.6 = 7Z
% =35
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Solving Equations

42. Solve for c. 46. Solve. 3(2z —1) =3
3
6=—15+-c r=1
c=49
43. Solve for b. 47. Solve. 3(bx —T7) =9
1
16 =12+ =b T =2
5
b=20
44. Solve for b. 48. Solve. 3(2y —7) =9
1
39 =15+ ib y=>3
b =48
45. Solve for z. 49. Solve. 2(2x + 8) = 24
4
53 = ——_z +17 T =2
7
z=—63

ANSWER KEY © Copyright DeltaM ath



Solving Equations
50. Solve. 5(y + 3) = 25 54. What value of 2z makes the equation below true?
y=2 9z —1 =53

A1 B. 2 C. 6 D. 10

51. Which equation has the solution £ = 6?

A. 6z+3=30 B. 2z +9=39

C. 5z —8=22 D. 6z +6 =—42

52. What value of & makes the equation below true? 55. What value of w makes the equation below true?
20 +7 =13 dw—-—4=28
A3 B.7 C.10 D.16 Al B. 3 C.4 D.15

53. Which equation has the solution £ = 8?

A 9z+9=281 B. 5z -3 =41

C. bx+ 2 =67 D. 8¢ +1=-65
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Equationsin Context

1. Under her cell phone plan, Skylar pays a flat cost of
$50 per month and $3 per gigabyte. She wants to keep her
bill at $60.20 per month. How many gigabytes of data can
she use while staying within her budget?

She can use 3.4 gigabytes.

2. Dianelys has a points card for a movie theater.
¢ She receives 25 rewards points just for signing up.

» She earns 10.5 points for each visit to the movie

theater.

» She needs 88 points for a free movie ticket.
How many visits must Dianelys make to earn a free movie
ticket?

She must make 6 visits.

3. Adam buys cheese and onions at the store.
« He pays a total of $37.96.
» He pays a total of $5.06 for the cheese.

+ He buys 5 bags of onions that each cost the same
amount.
How much does each bag of onions cost?

Each bag of onions costs $6.58.

ANSWER KEY

4. Paisley wants to ride her bicycle 23.5 miles this week.
She has already ridden 7 miles. If she rides for 5 more
days, what is the average number of miles she would have

to ride each day to meet her goal?

She would have to ride 3.3 miles per day.

5. Members of a soccer team raised $1673.50 to go to a
tournament. They rented a bus for $869.50 and budgeted
$50.25 per player for meals. Determine the number of
players the team can bring to the tournament.

The team can bring 16 players to the tournament.
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Equationsin Context

6. Jacob took a taxi from his house to the airport. The taxi
company charged a pick-up fee of $3.80 plus $4.25 per
mile. The total fare was $63.30, not including the tip.
Which equation or tape diagram could be used to represent
the context if ™ represents the number of miles in the taxi
ride?

A
3.8m +4.25 = 63.3
B
59.05
o | o» | am ] 38 |
4.25m
C
4.25m = 63.3 — 3.8
D
3.8m
| a8 | 38 | 38 L] 4.25 |
——— S —

59.05

2 © Copyright DeltaM ath

7. Sadie needed to get her computer fixed. She took it to
the repair store. The technician at the store worked on the
computer for 5.75 hours and charged her $90 for parts. The
total was $808.75. Which equation or tape diagram could
be used to represent the context if & represents the cost of

labor per hour?

A
683.75
/f_——/\\_—_\.
|x5x5x5...| 90|
5.75X
B
5.75X
T 1 x 1 x ]  w |
\\——V_——_//
808.75
C
808.75 — 5.75
xr =
90
D

808.75 = 90z + 5.75

ANSWER KEY



Equationsin Context

8. A group of friends wants to go to the amusement park.
They have $176.50 to spend on parking and admission.
Parking is $9, and tickets cost $16.75 per person, including
tax. Which tape diagram could be used to represent the
context if & represents the number of people who can go to

the amusement park?

9. Connor buys cheese and potatoes at the store.
e He pays a total of $31.30.
» He pays $2.68 for the cheese.

» He buys 6 bags of potatoes that each cost the same
amount.
Which equation could be used to determine &, how much

each bag of potatoes costs?

A, g — 2:68-3L3

A
16.75x
16.75 16.75 16.75 9
176.5
B
159.75
//_———A—vﬂ-\
| 9 : 9 5 9 | 16.75 |
9x
C
176.5
//__—_/\\——\\
| 9 i 9 5 9 | 16.75 |
9x
D
159.75
e ™
16.75 16.75 16.75 9
16.75x
ANSWER KEY

; B. 31.3 = 6(z + 2.68)
_ 313-6
C. 6z +2.68 =31.3 D = 2.68

10. Under his cell phone plan, Ayden pays a flat cost of
$55.50 per month and $5 per gigabyte. He wants to keep
his bill at $69.50 per month. Which equation or tape
diagram could be used to represent the context if
represents the number of gigabytes of data Ayden can use
while staying within his budget?

A
| 5 IEEEEEEEEE
—_—
B
5z 4 55.5 = 69.5
C
|555555...| E55 |
5%
D

5(55.5 + ) = 69.5
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Equationsin Context

11. Which of the following equations corresponds to the
diagram below?

w w 28
S ——
40
A 40+-28=w B. 2w+ 28 =40

C. 284w =140 D. 40 =28 = 2w

12. Which of the following equations corresponds to the
diagram below?

3 Yy
e
16
A. 3y=16 B. 16y =3
C. y+16=3 |D. 3+y=16

13. Which of the following equations corresponds to the
diagram below?

w w
S—
14
A.2—w=14 B w+w=14
C.w+2=14 D.2-w=14

4 © Copyright DeltaM ath

14. Which of the following equations corresponds to the
diagram below?

w 8
S —
9
A. 9w =38 B.84+w=29
C.w—-8=9 D. 8w =29

15. Which of the following equations corresponds to the
diagram below?

16

A 4z =16 B. 4416z =20

C.4+-2z=16 D. 16z=4

16. Which of the following equations corresponds to the

diagram?

y+10 | y+10 | y+10 | y+10 | y+10

22

A. 10+5y=22 B. 22(y+10)=5

C. 22=y+10

D. 5(y +10) = 22

17. Which of the following equations corresponds to the

diagram?
b+o b+9g b+9 b+o
S—
92
A. b+36=092 B. 92 = 36b

C. 92b4+9=14 D. 23=0b0+9

ANSWER KEY



Equationsin Context

18. Which of the following equations corresponds to the

diagram?
z+7 | z+7 | z+7 | z+7 | z+7
S
73
A. 73=5(z+T7) B. 73z2=17
C. 13(z+7)=5 D. 73z+7=5

19. Which of the following equations corresponds to the

diagram?
a+1 a+1
42
A a+1=142 B. a4+2=42
C. 42=2a+2 D. 1+ 2a=142

20. Which of the following equations corresponds to the

diagram?
xX+5 x+5 x+5 x+5
—
38
A 4=5+382 |B. 38=4(x+5)
C. 5=238z D. 38(zx+5)=4

21. Camila bought snacks for her team's practice. She
bought a bag of chips for $3.04 and a 15-pack of juice
bottles. The total cost before tax was $31.54. Write and
solve an equation which can be used to determine j, how

much each bottle of juice cost.

Answer: 7 = 1.9

ANSWER KEY
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22. Arun buys cheese and oranges at the store.
e He pays a total of $47.94.
» He pays a total of $5.03 for the cheese.

¢ He buys 7 bags of oranges that each cost the same
amount.
Write and solve an equation which can be used to

determine 2, how much each bag of oranges costs.

Answer: £ = 6.13

23. Members of a baseball team raised $2007.50 to go to a
tournament. They rented a bus for $1191.50 and budgeted
$68 per player for meals. Write and solve an equation
which can be used to determine , the number of players

the team can bring to the tournament.

Answer: £ = 12

24. Amelia took a taxi from her house to the airport. The
taxi company charged a pick-up fee of $3.60 plus $1 per
mile. The total fare was $25.60, not including the tip. Write
and solve an equation which can be used to determine M,
the number of miles in the taxi ride.

Answer: m = 22




Equationsin Context

25. Under his cell phone plan, Jai pays a flat cost of $69.50
per month and $3 per gigabyte. He wants to keep his bill at
$72.80 per month. Write and solve an equation which can

be used to determine x, the number of gigabytes of data Jai

can use while staying within his budget.

Answer; x = 1.1
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Geometry Review

1. Identity ZBC'F' by by marking it with an arc on the

diagram.

3. Identify /B H A by by marking it with an arc on the

diagram.

Correct Answer: Outline / BC F'

Correct Answer: Outline / BH A

G

2. Identify ZE AC' by by marking it with an arc on the

diagram.

Correct Answer: Outline /EAC

F

ANSWER KEY

4. Which angle number represents an angle vertical to

LAGD?

Angle number 1 is vertical to ZAGD.

© Copyright DeltaM ath



Geometry Review

5. Which angle number represents an angle adjacent to 6. fm/VYU = 67°, then whatism/TY W?

LNSM?

A

Angle number 5 is adjacent to ZNSM.

2 © Copyright DeltaM ath

m/TYW = 67°

7. Find the measure of the missing angle.

120°

ANSWER KEY



Geometry Review

8. Find the measure of the missing angle.

32°

A 4

a = 58"

9. Find the measure of the missing angles.

35°

i}

10. Find the degree measures x and y of the
missing angles in the diagram below.

A

51°

A
Y

ANSWER KEY

© Copyright DeltaM ath

11. Find the degree measure a of the missing
angle in the diagram below.

12. Find the degree measures d, e, and f of the
missing angles in the diagram below.

d 61°

34°

13. The radius of a circle is 17 ft. Find its circumference in
terms of 7.

C =34rft

14. The diameter of a circle is 9 ft. Find its circumference

in terms of 7.

C=9rnft




Geometry Review

15. The diameter of a circle 1s 16 ft. Find its circumference

in terms of 7T.

C =16xn 1t

16. The radius of a circle is 10.9 ft. Find the circumference
to the nearest tenth.

C =68.5 ft

17. The diameter of a circle is 13 in. Find the
circumference to the nearest tenth.

C =40.8in

18. Find the Perimeter of the figure below, composed of a
square and four semicircles. Rounded to the nearest tenths
place

75.4

19. Find the Perimeter of the figure below, composed of a
parallelogram and one semicircle. Rounded to the nearest
tenths place

38.6
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Geometry Review

20. Find the Perimeter of the figure below, composed of a 24. The radius of a circle is 21 m. Find its area 7o the
rectangle and two semicircles. Round to the nearest tenths nearest whole number.
place.
A = 1385 m’
6
14
24.6

25. The diameter of a circle is 14 m. Find its area to the
nearest whole number.

A = 154 m?

21. The diameter of a circle is 18 cm. Find its area in terms
of .

A = 817 cm?

26. Find the Area of the figure below, composed of a

rectangle with two semicircles removed. Round to the
22. The radius of a circle is 20 in. Find its area in terms of

.

nearest tenths place.

16

A = 4007 in®

14

51.4

23. The diameter of a circle is 12 in. Find its area in terms
of .

A = 367 in?

ANSWER KEY © Copyright DeltaM ath



Geometry Review

27. Find the Area of the figure below, composed of a 29. What is the volume, in cubic feet, of a cube with an
rectangle with a semicircle removed from it. Round to the edge length of 3 feet?

nearest tenths place.

V = 27 feet®

14

69.9

30. What is the volume, in cubic ft, of a rectangular prism
with a height of 13ft, a width of 15ft, and a length of 91t?

V = 1755 ft®

28. Find the Area of the figure below, composed of a
parallelogram and two semicircles. Round to the nearest

tenths place.

31. A rectangular prism has a length of 13 meters, a height

of 18 meters, and a width of 5 meters. What is its volume,

1n cubic meters?

V = 1170 meters?

553.1
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